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The following table shows the details about money invested (principal) in a bank at a certain rate of interest for a given
period of time by six different male persons A-F, alongwith with the amount received (in ). Some values are missing in
the table (indicated as'_') that you are expected to calculate if required. Based on the data in the table, answer the

questions that follow.

Person-wise Details of Money Invested

Person

Rate of Interest

(%)

Time

(In years)

Principal

n3)

Amount Received

%)

6%

18000

6%

30000

29000

43000

m| o | m| =

8%

20000

F

60000

Note: Calculate simple Interest unless spacified.

Sub questions

Question Number : 1 Question Id : 22742720920 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

If the rate of interest received by Aand C is in the ratio of 2:3, then the money invested by C will get doubled in

years.
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Options:

22742781501. 1

22742781502. 2

22742781503. 3

22742781504. 4



Question Number : 2 Question Id : 22742720921 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

If the difference between the interest received by E and B is < 4200 and E invested his money for double the time period for
which B invested his money, then the amount received by E is

1.330,000

2,326,600

3.329600

4.335400
Options:
22742781505. 1
22742781506. 2
22742781507. 3

22742781508. 4

Question Number : 3 Question Id : 22742720922 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

If the amount received by C is twice the money invested by him, then the amount he will receive after 2 years if he invests the
same sum of money in compound interest for 2 years compounded half yearly, is

Options:

227427815009. 1
22742781510. 2
22742781511.3
22742781512. 4



Question Number : 4 Question Id : 22742720923 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

If the interest recaived by F is 20% of the sum invested by him then how much more money as interest he would have eamed if
he had invested the money in compound interest?

1.3700

2.3600

3.3300

4.3400

Options :
22742781513. 1
22742781514. 2
22742781515.3

22742781516. 4

Question Number : 5 Question Id : 22742720924 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

If the interest recaived by F is < 7,575 mare than the interest received by D and the rate of interest received by F is 2% more
than the rate of interest recieved by A, then the interest rate received by D is

Options :

22742781517. 1
22742781518. 2
22742781519. 3

22742781520. 4



Question Id : 22742720919 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 22742720920 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742781501. 1
22742781502. 2
22742781503. 3
22742781504. 4

Question Number : 2 Question Id : 22742720921 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1.330.000

2.328600

3.329.600

4 335400
Options :
22742781505. 1
22742781506. 2
22742781507. 3

22742781508. 4

Question Number : 3 Question Id : 22742720922 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
227427815009. 1
22742781510. 2
22742781511.3

22742781512. 4

Question Number : 4 Question Id : 22742720923 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1.3700

2 3600

3.3300

4 3400

Options :
22742781513. 1
22742781514, 2
22742781515. 3

22742781516. 4

Question Number : 5 Question Id : 22742720924 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742781517. 1
22742781518. 2
22742781519. 3

22742781520. 4

Sub-Section Number : 2
Sub-Section Id : 227427821
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 6 Question Id : 22742720925 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which element of cooperative learning talks about 'sink and swim' together?

1. Individual accountability
2. Promotive Interaction

3. Positive interdependence
4 Group processing

Options :

22742781521. 1
22742781522, 2
22742781523. 3

22742781524. 4

Question Number : 6 Question Id : 22742720925 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742781521.1
22742781522. 2
22742781523. 3

22742781524. 4

Question Number : 7 Question Id : 22742720926 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1) Canva is an online tool used to prepare creative content in the form of poster, infographics, presentations etc
Statement (II): Edpuzzle is an online tool used for creating interactive videos.

Inlight of the above statements, choose the most appropriate answer from the options given below

1. Both Statement (1) and Statement (Il) are correct.

2 Both Statement (1) and Statement (II) are incorrect
3. Statement (1) is correct but Statement (II) is incorrect
4 Statement (1) is incorrect but Statement (II) is correct

Options :

22742781525. 1
22742781526. 2
22742781527.3

22742781528. 4



Question Number : 7 Question Id : 22742720926 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742781525. 1

22742781526. 2

227427815273

22742781528. 4

Question Number : 8 Question Id : 22742720927 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are the charactertistics of mental development of Adolescents?
(A). Increased ability to generalise the facts

(B). Development of memory and imagination

(C). Decreased ability to deal with abstraction

(D). Decreased ability to understand

(E). Increased ability to solve problems

Choose the correct answer from the options given below:

1.(C), (D) and (E) only
2. (A), (B) and (E) only.
3. (A), (C)and (D).

4 (C)and (D) only.
Options :
22742781529. 1
22742781530. 2
22742781531.3

22742781532. 4

Question Number : 8 Question Id : 22742720927 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742781529. 1
22742781530. 2
22742781531.3

22742781532. 4

Question Number : 9 Question Id : 22742720928 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

In which approach the teacher presents a puzzling situation and students solve the problem by gathering data and testing their
conclusions?

1. Discovery leaming
2. Latent leaming

3. Situated leamning
4. Inquiry learning

Options:
22742781533. 1
22742781534. 2

22742781535. 3



22742781536. 4

Question Number : 9 Question Id : 22742720928 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742781533. 1
22742781534, 2
22742781535. 3

22742781536. 4

Question Number : 10 Question Id : 22742720929 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(iven below are two statements:

Statement (1): The long-term memory for information tied to & particular time and place, especially memory of the events in a
person's life Is called as Implicit Memory

Statement (1): The knowledge that we are not concious of recalling but that influences our behaviour or thought without our
awareness is called as Episodic Memory.

In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement (1) and Statement (I1) are true.
2. Both Statement (1) and Statement (II) are false.
3. Statement (1) s true but Statement (11) is false.
4. Statement () s false but Statement (If) Is true.



Options :

22742781537. 1
22742781538. 2
22742781539. 3
22742781540. 4

Question Number : 10 Question Id : 22742720929 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742781537. 1
22742781538. 2
22742781539, 3

22742781540. 4

Question Number : 11 Question Id : 22742720930 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:

Statement (I): In Cross- Sectional research, a researcher studies the same population over time.

Statement (I1): In retrospective study, a researcher relies on people's memories and recollections of the past.
In light of the above statements,choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (Il) are true.
2. Both Statement () and Statement (1) are false.
3. Statement (1) is true but Statement (I1) is false.
4. Statement (1) is false but Statement (I1) is true.

Options :

22742781541. 1
22742781542. 2
22742781543.3
22742781544. 4

Question Number : 11 Question Id : 22742720930 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742781541. 1
22742781542. 2
22742781543.3

22742781544. 4



Question Number : 12 Question Id : 22742720931 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In naturalistic observation, the practice of dichotomous recording whether a behaviour occurs or not, constitutes

1. Cluster sampling

2. Time-interval sampling

3. Onelzero sampling

4. Continuous real-time sampling
Options :
22742781545. 1
22742781546. 2
22742781547.3

22742781548. 4

Question Number : 12 Question Id : 22742720931 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742781545. 1
22742781546. 2
22742781547. 3

22742781548. 4

Question Number : 13 Question Id : 22742720932 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

(Given below are two statements:

Statement (1) According to UGC Regulations 2018 on plagiarism, the authorities of a higher education institute cannot take suo
moto notice of an act of plagiarism.

Statement (II): Plagiarism means the practice of taking someone else’s work or idea and passing them as one's own.
In light of the above statements, choose the most appropriate answer from the options given below,

1. Both Statement (1) and Statement (Il) are comect.

2. Both Statement (1) and Statement (II) are incorrect.
3. Statement (1) is correct but Statement (Il) is incorrect.
4 Statement (1) is incorrect but Statement (Il) is correct.

Options:

22742781549. 1
22742781550. 2
22742781551.3

22742781552. 4

Question Number : 13 Question Id : 22742720932 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742781549. 1
22742781550. 2
22742781551. 3

22742781552. 4

Question Number : 14 Question Id : 22742720933 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

For a perfect normal distribution, the median would be equal to which of the following measures?
(A). Second quartile

(B). Mean

(C). 50! percentile

(D). Mode

(E). 5™ decile

Choose the correct answer from the options given below

1. (A), (B) and (C) only.

2. (A), (B)and (D) only.
A), (B), (C) and (D).

4 {AL (B), (C) (D) and (E).

Options :

22742781553. 1
22742781554. 2
22742781555. 3

22742781556. 4

Question Number : 14 Question Id : 22742720933 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742781553. 1
22742781554, 2
22742781555, 3

22742781556. 4

Question Number : 15 Question Id : 22742720934 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



For which of the following p-value of a test statistic, a null hypothesis is likely to be rejected?
(A). 0.38 of 2%

(B). 38%

(C). 2%

(D). 0.46

Choose the correct answer from the options given below

1. (A) and (B) only
2. (A)and (C) only
3. (B) and (C) only
4. (B) and (D) only
Options :

22742781557. 1
22742781558. 2
22742781559. 3

22742781560. 4

Question Number : 15 Question Id : 22742720934 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742781557. 1
22742781558. 2
227427815509, 3

22742781560. 4

Question Number : 16 Question Id : 22742720935 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

From the communication viewpoint, the Indian rhetoric, in its Hindu and Buddhist forms, has a/an

1. Materialist basis

2. Ethical basis

3. Euro-centric basis
4 Non-religious basis

Options:

22742781561. 1
22742781562. 2
22742781563. 3

22742781564. 4



Question Number : 16 Question Id : 22742720935 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742781561. 1
22742781562. 2
22742781563. 3

22742781564. 4

Question Number : 17 Question Id : 22742720936 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The paradoxical relationship between body and mind in a communication environment results in

1. Mindfulness

2 Self-importance
3 Obedience

4 Humour

Options :

22742781565. 1
22742781566. 2
22742781567. 3
22742781568. 4

Question Number : 17 Question Id : 22742720936 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742781565. 1
22742781566. 2
22742781567. 3
22742781568. 4

Question Number : 18 Question Id : 22742720937 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following are essential components of dialegic communication, according to Richard Johannesen?
(A). Afacade of pleasant greefing

(B). possessive warmth for others

(C). Empathic understading

(D). Spirit of mutual equality

(E). Positive regard for others

Choose the correct answer from the options given below:

—

A), (B) and (C) only.
B) (C) and (D) only.
C)(D)and (E)

A), (D) and (E) only.

1.
2
3

— —

)
)
)
4 (A)

o,

Options :
22742781569. 1

22742781570. 2



22742781571.3

22742781572. 4

Question Number : 18 Question Id : 22742720937 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742781569. 1
22742781570. 2
22742781571. 3

22742781572. 4

Question Number : 19 Question Id : 22742720938 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The non-verbal communication is studied across which of the follwing disciplines?
{A). Physics

(B). Chemistry

(C). Linguistics

(D). Social psychology

(E). Anthropology

Choose the correct answer from the options given below:

1. (A), (B) and (C) only.
2. (B) (C)and (D) only.
3. (C), (D), and (E).

4 (A), (B) and (E) only.
Options :
22742781573. 1
22742781574. 2
22742781575. 3

22742781576. 4

Question Number : 19 Question Id : 22742720938 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Fafeiad faugl 5 ¥ fo-16- 8§ TR-2isad YaR &I 8- [l |ar g2
A. HildH IR

B. TUTHARIRA

C. HIuTERHE

D. GHEIS® HIfaTH

E. AH4RIE
-d feu U famedl § § 999 IUgdd Itk &1 94 BIeld:

1. BadA B3R C
2 ®dd B, C AR D
3. ®add C, D3RE
4 HAAA B3ARE

Options :

227427815731
22742781574. 2
22742781575.3
22742781576. 4

Question Number : 20 Question Id : 22742720939 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1): Every communication contains elements of both content and relationships.
Statement (I): Eye behaviour provides metacommunicative cues.

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (I) and Statement (Il) are true.
2. Both Statement (1) and Statement (11) are false.
3. Statement (1) i1s true but Statement (1) 15 false.
4 Statement (1) is false but Statement (I1) is true.

Options:



22742781577.1
22742781578. 2
22742781579. 3

22742781580. 4

Question Number : 20 Question Id : 22742720939 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

@Y |- Ude YaR H fqugasq 3R &t gHl & dd [dgH9H 8d |

Y |- HEf & TdeR 4 WHIR! Yad Had £

SWRiad By & e H, 41 Gu U faded! § T el Sk &1 99 Diteid

1. PYFI AR NG gd g

2. YT | R || gHf SO &

3. ®YF | G &, Afted SYA 1| 3T ©
4 DY | AUT T, Afh-T HYT | G &
Options :

22742781577. 1

22742781578. 2

22742781579. 3

22742781580. 4

Question Number : 21 Question Id : 22742720940 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Find the correct sequence of five (5) missing letters which will complete the following letter series
daa bc cda a c c

1.a. bacb

2 a,.eb.a¢

3 #6.8.b¢

4 3,¢a,cb

Options:

22742781581. 1
22742781582. 2
22742781583. 3

22742781584. 4

Question Number : 21 Question Id : 22742720940 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ui (5) T H&R[ @1 Ug) 5 T & o FHafeifed aul-saet ot 81 <l daa_bc_cda_a ¢ c
1a,b,acb

2 aebac

3 @, 6.8, b,

1 A cach

Options :

22742781581. 1

22742781582. 2

22742781583. 3

22742781584. 4



Question Number : 22 Question Id : 22742720941 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

If in a scheme. the word 'FATHER' is coded as 104", how the word 'MOTHER' will be coded in the same scheme?

1.104

Options :

22742781585. 1
22742781586. 2
22742781587.3

22742781588. 4

Question Number : 22 Question Id : 22742720941 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

ft foel T & FATHER' 1104 o &0 H oot oo 71 3, ol 3t 2151 § MOTHER' Tec, 1 8 doefad fodl aIeAT?

1.104

2.83

3.87

4.102

Options :
22742781585. 1
22742781586. 2
22742781587. 3

22742781588. 4

Question Number : 23 Question Id : 22742720942 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Acircle has the diameter same as the length of the side of an equilatral triangle. What is the ratio of their respective areas?

11:
2.92:
3 11;
4 11:

-
[ "l
-
i

= S

[

< i

P

Options :

22742781589. 1
22742781590. 2
22742781591. 3

22742781592. 4

Question Number : 23 Question Id : 22742720942 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
U6 30 &1 O AR U6 GHYS Bo o} U6 Yo 1 a%T 99H 8| 376 SAbal &1 Ui ol 8112

1.11:7/3
2.22:7/3
a1 et

Slsl

4 11:

Options :

22742781589. 1
22742781590. 2
22742781591. 3

22742781592. 4

Question Number : 24 Question Id : 22742720943 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
An article is sold at a gain of 10%. Had it been sold for Rs. 26 more, the profit would have been 15%. The cost price of the
article is

1.Rs 480/-

2 Rs.500/-

3 Rs 510

4 Rs.520/-
Options :
22742781593. 1
22742781594, 2
22742781595. 3

22742781596. 4

Question Number : 24 Question Id : 22742720943 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Tl e @110 %1 R o1 701 391G 38 39 oy 90§ <206 e R el 7 et 15 % M G2 il | %) @1 Pl 90

1.3480

2.3500

3.3510

4.3520

Options :
22742781593. 1
22742781594. 2
22742781595. 3

22742781596. 4

Question Number : 25 Question Id : 22742720944 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

The difference between the compound interest and simple interest on <10,000/- for 3 years at 10% per annum is

1.310

2.300

3.200

4.430

Options :
22742781597. 1
22742781598. 2
22742781599. 3

22742781600. 4

Question Number : 25 Question Id : 22742720944 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

10 % It BI G Y 10000 W 3 9Y] & Tshdfe STd AR YR &S b HH R a1 82

1.3310

2.3300

3.3200

4.3 430
Options :
22742781597. 1
22742781598. 2
22742781599. 3

22742781600. 4

Question Number : 26 Question Id : 22742720945 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following group of terms in order of increasing extension.
{A). Mammal

(B). Wildcat

(C). Feline

(D). Animal

(E). Vertebrate

Choose the correct answer from the options given below:

1. (B), (C), (A), (E), (D).
2. (D), (E), (A), (C), (B).
3. (D), (A), (E), (B), (C).
4. (C), (B), (E), (A), (D).
Options :

22742781601. 1
22742781602. 2
22742781603. 3

22742781604. 4

Question Number : 26 Question Id : 22742720945 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



FEfeRad ee el &l 953y & ARG 71 H HaRyd SIfT :
A TTOEL

B. gfead

C. fasm

D. T

-id feu U foeedl & © 981 3R &1 99 DIt

1.B,C,AED
2D EACEB
3. DA E B, G
4 C,B,EAD

Options :

22742781601. 1
22742781602. 2
22742781603. 3
22742781604. 4

Question Number : 27 Question Id : 22742720946 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"If you like ketchup and you also like icecream, then you would sure like ketchup icecream.” Which fallacy is committed in this
argument?

1. Ad Hominem

2. Hasty Generalisation

3. Slippery Slope

4 Fallacy of composition
Options:
22742781605. 1
22742781606. 2

22742781607. 3



22742781608. 4

Question Number : 27 Question Id : 22742720946 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
"G, 310 9 TG % 3 AR S0 SHZHHTH Ht GG e 2, o e 0 § i Mgt e il 9 G H o
T 37

1, o 9R19 5 e

2. HaNE FHRIEU
3. g B

4 Welaey
Options :
22742781605. 1
22742781606. 2
22742781607. 3

22742781608. 4

Question Number : 28 Question Id : 22742720947 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which formal fallacy is committed in the following argument: "No politicians are idiots. Some voters are not idiots. Therefore,
some voters are not politicians."?

1. Exclusive Premises

2. Existential fallacy

3. Afirming the consequent
4. Denying the antecedent

Options :
227427816009. 1
22742781610. 2

22742781611. 3



22742781612. 4

Question Number : 28 Question Id : 22742720947 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e 4 B @ 91 SN G &l 2 oricn 98 ] ol 61 3 Farel 9 Te) o 51 39101, 39 Haal Toriioq

a8

1. TG LRI

) YWD Togy

3. B faYR-E

4. 3qdI Y QY
Options :
22742781609. 1
22742781610. 2
22742781611. 3

22742781612. 4

Question Number : 29 Question Id : 22742720948 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (I): Inductive arguments can only be stronger or weaker.

Statement (Il): Deductive arguments are either invalid or valid.

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (I) and Statement (II) are correct.

2. Both Statement (1) and Statement (I1) are incorrect
3. Statement (1) is correct but Statement (I1) is incorrect
4 Statement (1) is incorrect but Statement (I1) is correct

Options :



22742781613.1
22742781614. 2
22742781615. 3

22742781616. 4

Question Number : 29 Question Id : 22742720948 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

@Y |- AT gfGad! $ad €6 O HHIR &l 9ddl g

Y II: FRTHATES Tfeaal ar dl oy gidl & a1 3¢ gidl €|

SWRiad By & e H, 41 Gu U faded! § T el Sk &1 99 Diteid

1. PYFI AR NG gd g

2. YT | R || gHf SO &

3. ®YF | G &, Afted SYA 1| 3T ©
4 DY | AUT T, Afh-T HYT | G &
Options :

22742781613. 1

22742781614 2

22742781615. 3

22742781616. 4

Question Number : 30 Question Id : 22742720949 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In which of the following arguments the reason is counterbalanced by another reason as per classical Indian school of logic
(Nyay)?

(A). All things are non-etemal, because they are knowable.
(B). Fire Is cold because it is a substance.

(C). Sound is eternal because it is produced.

(D). Sound is a quality, because it is visible.

Choose the correct answer from the options given below:

1.(B)and(C
2 (A)and (D)
3.(C)and (D]
4. (B)and (D) only.

only.
only.

)
D)
)
)
Options :

22742781617. 1
22742781618. 2

22742781619. 3

22742781620. 4

Question Number : 30 Question Id : 22742720949 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T & YR QR <G A & S8R 5 H 9 foo gt 7 89 il 3 5q 3 foigfer 1 o 82
A GHT TG0 IR-T14d € i d 7B

B. +if fiqa gl & T T8 Tard &

C. A A% 3 FMfe 78 Iaifed gt 3l

D. @ 701 8 Fifs a8 X4 3

HTd few e faded T a8 IUYH IR &1 98 DI

1 $3aB AR C
2 BATAIRD
3 %aa C AR D
4 $aaB ARD

Options :

22742781617. 1
22742781618. 2
22742781619. 3

22742781620. 4

Question Number : 31 Question Id : 22742720950 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1): MyGov. is a platform through which Government of India aims to encourage citizen participation towards good
govemance by seeking their ideas and suggestions.

Statement (1): MyGov platform is developed by three of the former Flipkart executives to provide a cashless and seamless
payment experience.

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (I1) are true.
2. Both Statement (1) and Statement (II) are false.
3. Statement (1) 1s true but Statement (I1) is false.
4 Statement (1) 1s false but Statement (1) is true.

Options:



22742781621.1
22742781622. 2
22742781623. 3

22742781624. 4

Question Number : 31 Question Id : 22742720950 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Y |- TR (MyGov) T U1 Hd 2 fords W1eg ¥ 4R SR e ! & QI o el 347y iR iR i ot o 3
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L PH IR TH 90 e
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4 T | 3T & T 5 11 9T |
Options :
22742781621. 1
22742781622. 2
22742781623. 3

22742781624. 4

Question Number : 32 Question Id : 22742720951 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:

Statement (1): Dropbox is an example of e-mail service on the Internet.

Statement (I1): Google Docs is an online word processor.

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (I) and Statement (Il) are true.
2. Both Statement (1) and Statement (11) are false.
3. Statement (1) is true but Statement (1) is false.
4 Statement (1) is false but Statement (I1) is true.

Options :

22742781625. 1
22742781626. 2
22742781627.3
22742781628. 4

Question Number : 32 Question Id : 22742720951 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

HY |- SIYEIH Se3-e I 5-0¢ Udl &1 U 3aedU gl
HY |I- 7T S TP SIS 98 U 3|
IWRIcd HYH & el H, Hiid 6T U fadbed! & U UeT IR &1 994 Bifoig

1 Y 3RIGHI 9d g

2 ®YF | AN I GHf AET B

3 @Y | 94 8, dichd By || 38T &
4 Y| MO g, dibd Y 11 T 8

Options:

22742781625. 1
22742781626. 2
22742781627.3

22742781628. 4



Question Number : 33 Question Id : 22742720952 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1): Dynamic RAM (DRAM) is the most common type of RAM used in computers, but where absolute speed is
essential, Static RAM (SRAM) is the preferred technology.

Statement (1): The Processor's Memory Cache is the high speed portion of the memary and SRAM s the effective technology
for the same.

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (I1) are true.
2. Both Statement (1) and Statement (II) are false.
3. Statement (1) is true but Statement (I1) is false.
4. Statement (1) is false but Statement (1) is true.

Options:

22742781629. 1
22742781630. 2
22742781631.3

22742781632. 4

Question Number : 33 Question Id : 22742720952 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742781629. 1
22742781630. 2
22742781631. 3
22742781632. 4

Question Number : 34 Question Id : 22742720953 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements A-D about Internet Cookies is/are true?
{A). They are form of spyware.

(B). They are used only in advertising

(C). They are used to track browser use.

(D). They act in the same way as a virus.

Choose the correct answer from the options given below

1. (A) only.

2. (A) and (B) only
3. (C) only

4 (C)and (D) only.
Options :
22742781633. 1
22742781634. 2
22742781635. 3

22742781636. 4

Question Number : 34 Question Id : 22742720953 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742781633. 1
22742781634. 2
22742781635. 3
22742781636. 4

Question Number : 35 Question Id : 22742720954 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are correct with reference to Organic Light-Emitting Diodes (OLEDs)?

(A). Because of plastic organic layers, OLEDs are much thicker and heavier than conventional LCD/LED formats.
(B). OLEDs give a brighter light than LEDs leading to more vivid colours.

(C). OLEDs produce a much larger field of view than LCD/LED formats.

(D). OLEDs require some form of back-lighting so that the screen can be lit up.

(E). OLEDs consume more power than LCD/LED formats and thus produce more heat.

Choose the correct answer from the options given below:

Options :

22742781637. 1
22742781638. 2
22742781639. 3
22742781640. 4

Question Number : 35 Question Id : 22742720954 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742781637. 1
22742781638. 2
22742781639. 3
22742781640. 4

Question Number : 36 Question Id : 22742720955 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Concept of salt gradient is utilized to store the heat energy in which of the following solar energy collecting systems?

1. Solar thermal collectors
2. Solar cells

3. Solar ponds

4 Solar kilns

Options:
22742781641. 1
22742781642. 2

22742781643. 3



22742781644. 4

Question Number : 36 Question Id : 22742720955 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
fet W) et TG0 Ol fo o] H 3 G5l b Y/ GRU b foTU <l ol 1 Wbt ol T ] i 62

1 9% a0 950
2 IR
3 ORam
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Options :

22742781641. 1
22742781642, 2
22742781643. 3
22742781644. 4

Question Number : 37 Question Id : 22742720956 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Full form of PAN, a type of air pollutant, is

1. Polycyclic Aromatic Nitrate
2. Polycyclic Acetyl Nitrate

3. Peroxy Aromatic Nitrate

4 Peroxy Acetyl Nitrate

Options :

22742781645. 1
22742781646. 2
22742781647.3
22742781648. 4



Question Number : 37 Question Id : 22742720956 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
9 UgN®| & UP UBR , PAN BT U A1 FE H ¥ &F 91 8?2

1. Uil gsidas WHk® 5de
2. UriiEgiae Uferge Agde
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Options :

22742781645. 1
22742781646. 2
22742781647.3

22742781648. 4

Question Number : 38 Question Id : 22742720957 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (I). Two categories of Ozone Depleting Substances (ODS) were class | and class |
Statement (I1): Production of class |l ODS ceased in 2000.

In light of the above statements, choose the most appropriate answer from the options given below.

. Both Statement (1) and Statement (1I) are correct.

. Both Statement (I) and Statement (11) are incorrect

- Statement (1) is correct but Statement (11} is incorrect
- Statement (1) is incorrect but Statement (11) is correct

L O —

o

Options :

22742781649. 1
22742781650. 2
22742781651. 3

22742781652. 4



Question Number : 38 Question Id : 22742720957 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742781649. 1

22742781650. 2

22742781651. 3

22742781652. 4

Question Number : 39 Question Id : 22742720958 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one Is labelled as Assertion (A) and other one labelled as Reason (R).

Assertion (A) : Formaldehyde, widely used in plastics, wood products, insulating materials, glue and fabrics, is a serious
allergen.

Reason (R) : Allergens are substances that activate the immune system
In light of the above statements, choose the most appropriate answer from the options given below .

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).

2. Both (A) and (R) are correct but (R) is NOT the comect explanation of (A).
3. (A) s correct but (R) is not correct.

4 (A)is not correct but (R) Is correct.



Options :

22742781653. 1
22742781654. 2
22742781655, 3

22742781656. 4

Question Number : 39 Question Id : 22742720958 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742781653. 1

22742781654 2

22742781655. 3

22742781656. 4

Question Number : 40 Question Id : 22742720959 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



During which one of the following the Convention on Biodiversity was opened for signature?

1. Rio Summit

2. Stockholm conference
3. Ramsar convention

4. Montreal Protocol

Options :

22742781657. 1
22742781658. 2
22742781659. 3

22742781660. 4

Question Number : 40 Question Id : 22742720959 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742781657. 1
22742781658. 2
22742781659. 3

22742781660. 4

Question Number : 41 Question Id : 22742720960 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The Hindu college of Calcutta was later renamed as

_ Surendranath college

- Ram Mohan Roy college
University/College

. Presidency college

[

o

Options :

22742781661. 1
22742781662. 2
22742781663. 3

22742781664. 4

Question Number : 41 Question Id : 22742720960 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742781661. 1
22742781662. 2
22742781663. 3

22742781664. 4

Question Number : 42 Question Id : 22742720961 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Dr. B. R. Ambedkar was associated with

{A). Elphinstone college, Mumbai

(B). Khalsa college, Mumbai

(C). Milind college, Aurangabad

(D). Siddharth college, Mumbai

(E). Fergusson college, Pune

Choose the correct answer from the options given below:

1. (A), (B) and (C) only.
2.(B), (C)and (D) only
3. (C), (D) and (E) only
4. (A), (D) and (E) only.
Options :
22742781665. 1
22742781666. 2
22742781667. 3

22742781668. 4

Question Number : 42 Question Id : 22742720961 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742781665. 1
22742781666. 2
22742781667. 3
22742781668. 4

Question Number : 43 Question Id : 22742720962 Question Type : MCQ Option Shuffling :

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1): The National Policy on Education (1986) intended to encourage inter-disciplinary research in social science.
Statement (1) According to the National Policy on Education (1986) the idea of rural universities was untenable.

In light of the above statements choose the most appropriate answer from the options given below.

1. Both Statement (I) and Statement (Il) are true.
2. Both Statement (1) and Statement (II) are false.
3. Statement (1) is true but Statement (11} Is false.
4 Statement (1) is false but Statement (II) is true.

Options:

No



22742781669. 1
22742781670. 2
22742781671.3

22742781672. 4

Question Number : 43 Question Id : 22742720962 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742781669. 1
22742781670. 2
22742781671. 3

22742781672. 4

Question Number : 44 Question Id : 22742720963 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following fundamental principles of education are highlighted under New National Education Policy (2020)?
(A). Higher education as a fundamental right.

(B). Multi-disciplinarity and holistic education.

(C). Outstanding research as part of higher education.

(D). Promotion of multilingualism in teaching and learning.

(E). Setting up of another knowledge commission.

Choose the correct answer from the options given below:

(A), (B) and (C) only.

(B), (C) and (D) only

(C), (D) and (E) only
(D)and (

),
),
),
(A), (D) and (E) only.

1
2
3
4
Options :

22742781673. 1
22742781674. 2
22742781675. 3

22742781676. 4

Question Number : 44 Question Id : 22742720963 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T T e A, 2020 B Hfeid FofiE H @ e & &7 Afte Riial & veifed foar mrg?
A Hifts AR & T H Iwa e

B. 9g-fauflidar 3R T fRien
C. R8T & YT & TUH PP STHYH
D. fRi&r 3R 3 o SgUIETG & HicTed

E. 3] J MG & RIGT

1 fau U fomea! & © T99 SUTE S @1 99 i

1 $aqA BARC
2 $adB CARD
3. %ad C,D HRE
4 HadA DARE

Options :

227427816731
22742781674. 2
22742781675. 3
22742781676. 4

Question Number : 45 Question Id : 22742720964 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Environmental education is needed for:

{A). Conservation of natual resources.

(B). Knowledge of causes of pollution.

(C). Knowledge of measures to prevent pollution.

(D). Extensive extraction of natural resources.

(E). Economising on scientific invention.

Choose the correct answer from the options given below:

1. (A), (B) and (C) only.
2. (B), (C) and (D) only
3. (C), (D) and (E).

4. (A), (D) and (E) only.
Options :
22742781677. 1
22742781678. 2
22742781679. 3

22742781680. 4

Question Number : 45 Question Id : 22742720964 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742781677. 1
22742781678. 2
22742781679. 3

22742781680. 4

Sub-Section Number : 3
Sub-Section Id : 227427822
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 22742720965 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension



Read the following passage carefully and answer the questions given below:

Saving energy means saving money. Homeowners and renters know this basic fact, but they often don't know what kinds of
adjustments they can make in their homes and apartments that will result in savings.

For those willing to spend some time and money to reap long-term energy savings, an energy audit is the way to go. An energy
auditor will come into your home and assess its energy efficiency. The auditor will pinpoint areas of your home that use the most
energy and offer solutions to lower your energy use and costs. Trained energy auditors know what to look for and can locate &
variety of flaws that may be resulting in energy inefficiency, including inadequate insultion, construction flaws, and uneven heat
distribution.

There are quicker and less costly measures that can be taken as well. One way to save money is o replace incandescent lights
with fluorescents. This can result in a savings of more than 50% on your monthly lighting costs. When it's time to replace old
appliances, if's wise to spend & bit more for an energy-efiicient model, and be sure that you are taking advantage of energy-
saving settings already on your current refrigerator, dishwasher, washing machine, or dryer.

Windows provide another opportunity to cut your energy costs. Caulk old windows that might be leaky to prevent drafts, and
choose double-paned windows if you're building an addition or replacing old windows.

Most areas of your home or apartment offer opportunifies o save energy and money. The results are significant and are well
worth the effort.

Sub questions

Question Number : 46 Question Id : 22742720966 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The passage indicates that old appliances

1. Consume more energy.
2. Consume less energy.
3. Work well.

4 Have long life.

Options :

22742781681. 1
22742781682. 2
22742781683. 3

22742781684. 4



Question Number : 47 Question Id : 22742720967 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

With reference to the fourth paragraph of the passage, the meaning of the word 'Caulk’ is

_to shut

- to make more attractive

_to fill the holes

4 to find the cause of a problem

[ O

Options:

22742781685. 1
22742781686. 2
22742781687. 3
22742781688. 4

Question Number : 48 Question Id : 22742720968 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

According to the passage, double-paned windows

1. should never be used as replacement windows or in new additions to homes
2. can't be repaired

3. will lower your heating costs by 50%

4 are energy efficient

Options:

22742781689. 1

22742781690. 2

22742781691. 3

22742781692. 4

Question Number : 49 Question Id : 22742720969 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

According to the passage, which of the following would an energy auditor do?
(A). Locate a variety of flaws that may result in energy inefficiency and fix them.
(B). Check for construction flaws

(C). Look for problems with heat distribution

(D). Offer solutions to lower your energy costs

Choose the correct answer from the options given below:

1. Aonly.

2. B and C only.

3. C and D only.
4 B, CandD only

Options :

22742781693. 1
22742781694, 2
22742781695. 3

22742781696. 4

Question Number : 50 Question Id : 22742720970 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following ideas is not included in the passage?

1. You can reduce your monthly lighting costs by more than 50% by using fluorescent bulbs instead of incandescent.
2. Double-paned windows can cut energy costs.

3. Energy audit for every home and apartment should be mandatory in India.

4 Some appliances have energy-saving settings.

Options:

22742781697. 1

22742781698. 2



22742781699. 3
22742781700. 4

Question Id : 22742720965 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 22742720966 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742781681. 1
22742781682. 2
22742781683. 3
22742781684. 4

Question Number : 47 Question Id : 22742720967 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742781685. 1
22742781686. 2
22742781687. 3
22742781688. 4

Question Number : 48 Question Id : 22742720968 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742781689. 1
22742781690. 2
22742781691. 3

22742781692. 4

Question Number : 49 Question Id : 22742720969 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742781693. 1
22742781694. 2
22742781695. 3
22742781696. 4



Question Number : 50 Question Id : 22742720970 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742781697. 1
22742781698. 2
22742781699. 3

22742781700. 4
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Question Number : 51 Question Id : 22742720971 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who conceptualised power as capillary-flowing throughout the system like blood in the capillaries of our body?

1. Michel Foucault

2. Hannah Arendt

3. Judith Butler

4 Catherine A Mackinnon

Options:

22742781701. 1
22742781702. 2
22742781703. 3

22742781704. 4

Question Number : 51 Question Id : 22742720971 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742781701. 1

22742781702. 2

22742781703. 3

22742781704. 4



Question Number : 52 Question Id : 22742720972 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the purpose of studying Women’s Studies?

1. To leam to identify subtle as well as overt cultural practices.

2. To learn that gender is isolated from other factors that determine someone’s position in the world, such as sexuality, race,
class, ability and religion.

3. To Primarily explore the representation of women bodies.

4 To Understand how androcentric academic knowledge production has always recognised gender as a lens of analysis

Options :

22742781705. 1
22742781706. 2
22742781707.3

22742781708. 4

Question Number : 52 Question Id : 22742720972 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742781705. 1

22742781706. 2

22742781707. 3

22742781708. 4



Question Number : 53 Question Id : 22742720973 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Purpose of doing Gender-Analysis:

1. Overlooking the differences between and among women and men based on unequal distribution of resources, opportunities
of power,

2. Ensuring that the different needs of women and men are clearly identified and addressed at all stages of the policy cycle.

3. Recognizing that policies, programmes and projects have similar effects on women and men.

4 Seeking and articulating only women's view point in developing policies and programme.

Options :

227427817009. 1
22742781710. 2
22742781711.3

22742781712. 4

Question Number : 53 Question Id : 22742720973 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742781709. 1

22742781710. 2

22742781711. 3

22742781712. 4



Question Number : 54 Question Id : 22742720974 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The sanitease scheme launched by the union ministry of youth affairs and sports under its social development activity
‘Swachhagraha' aims at;

1. Creating awareness and provide sanitary napkins for women and girl in rural and urban schoals.
2. Creating awareness about safe abortion

3. Creating awareness about pre-natal and post-natal core

4. Reducing post-partum stress

Options :

22742781713. 1
22742781714. 2
22742781715.3

22742781716. 4

Question Number : 54 Question Id : 22742720974 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

B3 a0 DIUHH SR T HAT g 390 ST [T B B, & Haid 6 @1 T Gre WH 3 6 §
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Options :

22742781713. 1

22742781714.2

22742781715. 3

22742781716. 4

Question Number : 55 Question Id : 22742720975 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Under Janani Suraksha yojana, pregnant women of BPL, SC, and ST who deliver their babies in health institution is rural area
are provided a cash incentive of:

1.Rs 500

2 Rs600

3.Rs 700

4 Rs 800
Options :
22742781717. 1
22742781718. 2
22742781719.3

22742781720. 4

Question Number : 55 Question Id : 22742720975 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

) R T S e, T el e 9 T e o 9 a1 7 0 R e W

1.500 %0¥

2 600 %90

3700 %90

4 800 %90
Options :
22742781717. 1
22742781718. 2
22742781719. 3

22742781720. 4



Question Number : 56 Question Id : 22742720976 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

CBSE merit scholarship scheme is for:

. Girl children

. Both girls and boys
. Single girl child

. For boys

L L

F =N

Options :

22742781721. 1
22742781722. 2
22742781723.3

22742781724. 4

Question Number : 56 Question Id : 22742720976 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

didieys Ake TrEghi gieH FafaRad 5§ 9 63 yaH &1 Sdl &

1. dIfcial
2. AS®I Ud Ao GiHl & 1ad
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Options :

22742781721. 1
22742781722, 2
22742781723. 3

22742781724. 4

Question Number : 57 Question Id : 22742720977 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

In 2018 which Indian state initiated Asmita Yojna, where in self help groups are to procure sanitary napkins from suppliers and
distribute them to Asmita cardholders:

1. Uttar Pradesh

2 Maharashira

3. Punjab

4 Madhya Pradesh
Options :
22742781725. 1
22742781726. 2
22742781727.3

22742781728. 4

Question Number : 57 Question Id : 22742720977 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742781725. 1
22742781726. 2
22742781727.3

22742781728. 4

Question Number : 58 Question Id : 22742720978 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who critiqued the collapse of language info biology and said that given the choice fo identify either with the mother or the father
upon entry into the symbolic order, boys can also exist and write in & feminine mode?

1. Sigmund Freud

2. Julia Kristeva

3. Kate Millett

4 Simone De Beauvoir

Options :

22742781729. 1
22742781730. 2
22742781731.3

22742781732. 4

Question Number : 58 Question Id : 22742720978 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. g PIog

2. e fepven

3. e firee
Options :
22742781729. 1
22742781730. 2
22742781731.3

22742781732. 4

Question Number : 59 Question Id : 22742720979 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the meaning of ‘Shadow Pandemic'?

1. Drop in female labour force participation rate during the pandemic.
2. Increase in school drop-out during the pandemic.

3. Increase in violence against women during the pandemic.

4 Increase in gender inequalities during the pandemic.

Options :
22742781733. 1
22742781734. 2

22742781735. 3
22742781736. 4

Question Number : 59 Question Id : 22742720979 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

s YT &1 &1 SR &2
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2. Jemr & SR faeey @isH o a=df (fdenfdah o gfs

3. ARl & GRF dieared & ufd fard afg
4. Ol & SRH oRle aaEds | gis

Options :

22742781733. 1
22742781734. 2
22742781735.3

22742781736. 4

Question Number : 60 Question Id : 22742720980 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who used the term of ‘Feminist Jurisprudence’?

1. Catherine A. Mackinnon
2. Carole Pateman

3 Ann Scales

4 Kimberle Crenshaw
Options :

22742781737. 1
22742781738. 2
22742781739. 3

22742781740. 4

Question Number : 60 Question Id : 22742720980 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742781737. 1
22742781738. 2
22742781739.3

22742781740. 4

Question Number : 61 Question Id : 22742720981 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

The denial of legal and political equality to women would imply that the laws of the state are biased in favour of men yet, it is
possible to rectify these laws by the intervention of the state. Which school believes in the basic neutrality of the state?

1. Radical Feminism

2. Psychoanalytical Feminism
3. Liberal Feminism

4 Postmodern Feminism

Options :

22742781741. 1
22742781742, 2
22742781743.3

22742781744. 4

Question Number : 61 Question Id : 22742720981 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742781741. 1
22742781742. 2
22742781743.3

22742781744. 4

Question Number : 62 Question Id : 22742720982 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Who among the following advocated for wages for house-work?

1. Selma James
2. Juliet Mitchell
3. Alison Jaggar
- Margaret Benston

e

Options :

22742781745, 1
22742781746. 2
22742781747. 3
22742781748. 4

Question Number : 62 Question Id : 22742720982 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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2.9 orge g
3. T SRR
4. AFTE g
Options :
22742781745. 1
22742781746. 2
22742781747. 3

22742781748. 4

Question Number : 63 Question Id : 22742720983 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The plastic in sanitary pads stay in the environment for how many years?

. Upto 100 years
200 to 300 years
- 300 to 400 years
- 500 and above

[

o

Options :

22742781749. 1
22742781750. 2
22742781751.3

22742781752. 4

Question Number : 63 Question Id : 22742720983 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
el U2 H wiies ugiarol | fbd- 99l o §-1 38dl &
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Options:

22742781749. 1
22742781750. 2
22742781751.3

22742781752. 4

Question Number : 64 Question Id : 22742720984 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who wrote 'if men could menstruate” menstruation would became an enviable, boast worthy and masculine event?

1. Gloria Steinem

2. Susan Wadley

3. R.E. Montgomery

4. Mary Crawford
Options :
22742781753. 1
22742781754. 2
22742781755. 3

22742781756. 4

Question Number : 64 Question Id : 22742720984 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fore foreal “aic Tou o A1 4 g1 Tl & ol FIRS ¥ U digig, 7Td &3 97 3R T2 1 9ed] & o’

1 TIRAI &R
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4 HFIEIS
Options:
22742781753. 1
22742781754. 2
22742781755. 3

22742781756. 4

Question Number : 65 Question Id : 22742720985 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



How many people have been affected by human trafficking worldwide according to global estimate of modem slavery as
released by ILO in 20227

1.10 Million
2. 20 Million
3. 30 Million
4.50 Million
Options :

22742781757.1
22742781758. 2
22742781759. 3
22742781760. 4

Question Number : 65 Question Id : 22742720985 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Options:

22742781757. 1

22742781758. 2

22742781759. 3

22742781760. 4

Question Number : 66 Question Id : 22742720986 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



According to National Family health survey-5, what is the percentage of Female and Male Sterilization:

F) and 0.3%(M)

1.37.9%(
2. o(F) and 33.21%(M)
3. (F) and 27.2%(M)
of

7.9%
0.7%
9.3%
0.1%(F) and 1.5%(M)

3
5
3
45
Options :

22742781761. 1
22742781762. 2

22742781763. 3

22742781764. 4

Question Number : 66 Question Id : 22742720986 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. 37.9% (g 3R 0.3% (I29)
2. 50.7% (Higa) 3R 33.21% (%)
3. 39.3% (Afga) AR 27.2% (I%W)

4.50.1% (|igd) 3R 1.5% (Jo9)
Options:

22742781761.1
22742781762. 2
22742781763. 3

22742781764. 4

Question Number : 67 Question Id : 22742720987 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which National education policy gave impetus to women’s studies in India?

1. Kothari Commission 1964-66
2. National Education Policy 1986
3. National Education Policy 2020
4 Education Commission 1882

Options :

22742781765. 1
22742781766. 2
22742781767. 3
22742781768. 4

Question Number : 67 Question Id : 22742720987 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. DISRI 3N 1964-66
2. IFTT & Hifd 1986
3. g & Hifd 2020
4. 1882 1 TR1&T SR
Options:
22742781765. 1
22742781766. 2
22742781767. 3

22742781768. 4

Question Number : 68 Question Id : 22742720988 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which state has the highest rate of domestic violence as per national family health survey-57?

1. Manipur

2. Maharashtra

3. Karnataka

4. West Bengal
Options :
22742781769. 1
22742781770. 2
22742781771. 3

22742781772. 4

Question Number : 68 Question Id : 22742720988 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742781769. 1
22742781770. 2
22742781771. 3

22742781772. 4

Question Number : 69 Question Id : 22742720989 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Edwin and Shirley Ardenes Muted group theory speaks about the women's

. Educational Status

. Occupational Status
- Domination

. Silence

[

o

Options :

22742781773. 1
22742781774. 2
22742781775. 3

22742781776. 4

Question Number : 69 Question Id : 22742720989 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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2 auIhe ufufd
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Options:
22742781773. 1
22742781774. 2
22742781775.3

22742781776. 4

Question Number : 70 Question Id : 22742720990 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who has defined empowerment in terms of three interrelated concepts like agency, resources and achievements?

1. Sherry B Ortener
2. Kate Millet

3. Adrienne Rich

4 Naila Kabeer

Options :

22742781777. 1
22742781778. 2
22742781779. 3
22742781780. 4

Question Number : 70 Question Id : 22742720990 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742781777.1
22742781778. 2
22742781779.3

22742781780. 4

Question Number : 71 Question Id : 22742720991 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Feminist Jurisprudence is also known as:

Feminist Theory
Feminist discourse
Feminist legal Theory
Female theory

[ s

e

Options :

22742781781. 1
22742781782. 2
22742781783.3

22742781784. 4

Question Number : 71 Question Id : 22742720991 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. ARIae! Hgid

2 ARIae a9

3. ARIarel fafde Hgid
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Options:
22742781781. 1
22742781782. 2
22742781783. 3

22742781784. 4

Question Number : 72 Question Id : 22742720992 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



What is the significance of intersectionality in gender studies?

1. It emphasizes the importance of binary gender identities

2. It focuses solely on the experiences of heterosexual individual

3. It recognises that individuals experiences are shaped by multiple social identities.
4 It promote the idea that gender is solely determined by biology

Options :

22742781785. 1
22742781786. 2
22742781787.3
22742781788. 4

Question Number : 72 Question Id : 22742720992 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742781785. 1
22742781786. 2
22742781787.3

22742781788. 4

Question Number : 73 Question Id : 22742720993 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The concept of ‘Performativity’ was given by:

_Judith Butler

. Simon de Beauvoir

- Talcott Parsons

. Carle C. Zimmerman

[ s

o

Options :

22742781789. 1
22742781790. 2
22742781791.3

22742781792. 4

Question Number : 73 Question Id : 22742720993 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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4 BIc i fomdq

Options:

22742781789. 1
22742781790. 2
22742781791.3
22742781792. 4

Question Number : 74 Question Id : 22742720994 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who among the following said that “overthrow of mother right was the world historical defeat of the female sex™

1.J.5. Mil

2. Friedrich Engels

3. Margaret Benston
4. Mary O'Brien
Options :
22742781793. 1
22742781794. 2
22742781795. 3

22742781796. 4

Question Number : 74 Question Id : 22742720994 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742781793. 1
22742781794. 2
22742781795. 3

22742781796. 4

Question Number : 75 Question Id : 22742720995 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



What is the primary aim of the Women's Empowerment India (WEI)?

1. To measure women'’s ability to confirm to traditional roles

2. To assess women's influence over men in various contexts

3. To capture various aspects of women’s well being and agency
4. To determine women’s compliance with societal norms

Options :

22742781797. 1
22742781798. 2
22742781799. 3
22742781800. 4

Question Number : 75 Question Id : 22742720995 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742781797. 1
22742781798. 2
22742781799. 3

22742781800. 4

Question Number : 76 Question Id : 22742720996 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which feminist thinker from the 215t country is known for her “TED TALK we should all be feminist™?

1. Bell hooks

2. Chimamanda Ngozi Adichie
3. Vandana Shiva

4 Winona La Duke
Options :
22742781801. 1
22742781802. 2
22742781803. 3

22742781804. 4

Question Number : 76 Question Id : 22742720996 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742781801. 1
22742781802. 2
22742781803. 3

22742781804. 4

Question Number : 77 Question Id : 22742720997 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



What is "Cisgender"?

1. A term referring exclusively to transgender individuals

2. The same as heterosexual

3. A person whose gender identity matches the sex they are assigned at brith
4. A concept that is not relevant to gender studies

Options :

22742781805. 1

22742781806. 2

22742781807. 3

22742781808. 4

Question Number : 77 Question Id : 22742720997 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742781805. 1
22742781806. 2
22742781807.3

22742781808. 4

Question Number : 78 Question Id : 22742720998 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following concepts was mentioned in Helene Cixous essay The Laugh of the Medusa™?

1. Negritude

2. Ecriture feminine
3. Stiwanism

4 Guerrila Feminism
Options :
227427818009. 1
22742781810. 2
22742781811. 3

22742781812. 4

Question Number : 78 Question Id : 22742720998 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
227427818009. 1
22742781810. 2
22742781811. 3

22742781812. 4

Question Number : 79 Question Id : 22742720999 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



What does 'Heteronormativity’ refer to

1. The belief that gender in solely a social construct

2. The assumption that heterosexuality is the norm and that other sexual orientations are abnormal.
3. The idea that biological sex does not determine an individual's gender identity

4. A concept unrelated to gender studies

Options :

22742781813. 1
22742781814. 2
22742781815. 3

22742781816. 4

Question Number : 79 Question Id : 22742720999 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742781813. 1
22742781814. 2
22742781815.3

22742781816. 4

Question Number : 80 Question Id : 22742721000 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who is the first IVF baby girl in India?

1. Kanupriya Agarwal
2. Indira Hinduja

3. Kamala Selvaraj
4 Kamala Rathiram
Options :
22742781817. 1
22742781818. 2
22742781819. 3

22742781820. 4

Question Number : 80 Question Id : 22742721000 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742781817. 1
22742781818. 2
22742781819.3

22742781820. 4

Question Number : 81 Question Id : 22742721001 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Global Media Monitoring Project (GMMP) collects data on indicators of gender in the news:

1. Every five years since 1995
2. Every years since 2005

3. Every two years since 2015
4 Every years since 2020
Options :

22742781821. 1
22742781822.2
22742781823. 3

22742781824. 4

Question Number : 81 Question Id : 22742721001 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742781821. 1

22742781822.2

22742781823. 3

22742781824. 4

Question Number : 82 Question Id : 22742721002 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



"Womanist is to feminist as purple is to lavender”, who defined womanist in this way?

1. Tony Morrison
2. Angela Davis
3. Alice Walker
4 Bell books
Options :
22742781825. 1
22742781826. 2
22742781827. 3

22742781828. 4

Question Number : 82 Question Id : 22742721002 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742781825. 1
22742781826. 2
22742781827.3
22742781828. 4

Question Number : 83 Question Id : 22742721003 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Gender Budgeting involves:

1. Allocating a fixed budget for men and women separately

2. Considering only gender neutral factors in budget allocation

3. Analysing government budgets to understand their impact on gender equality
4. Exclusively focusing on women’s economic empowerment

Options :

22742781829. 1

22742781830. 2

22742781831. 3

22742781832. 4

Question Number : 83 Question Id : 22742721003 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742781829. 1
22742781830. 2
22742781831.3

22742781832. 4

Question Number : 84 Question Id : 22742721004 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who is the author of the short story “Sultana’s Dream'’s - A Feminist Utopia?

1. Tarabai Shinde

2. Rokeya Sakhawat Hossain
3. Cornelia Sorabji

4 Kamala Das

Options :

22742781833. 1
22742781834. 2
22742781835. 3

22742781836. 4

Question Number : 84 Question Id : 22742721004 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742781833. 1
22742781834. 2
22742781835.3

22742781836. 4

Question Number : 85 Question Id : 22742721005 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



“The Culture Industry” is a chapter from the book, The Dialetic of Enlightenment by:

1. Theodor Adorne and Max Horkheimer

2. Theodor Adomo and Bendict Anderson
3. Max Horkhermer and Marshall Mc Luhan
4 Max Horkheimer and Fredric Jameson.

Options :

22742781837. 1
22742781838. 2
22742781839. 3

22742781840. 4

Question Number : 85 Question Id : 22742721005 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742781837. 1
22742781838. 2
22742781839.3

22742781840. 4

Question Number : 86 Question Id : 22742721006 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who first introduced women’s Self Help Groups (SHGs)

. Ela Bhatt

- Shanta Sinha

- Mohommad Yunus
- Mahabub ul Hag

[ s

o

Options :

22742781841. 1
22742781842. 2
22742781843.3
22742781844. 4

Question Number : 86 Question Id : 22742721006 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742781841. 1
22742781842. 2
22742781843.3

22742781844. 4

Question Number : 87 Question Id : 22742721007 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Colonization for Chandra Talpade Mohanty connotes:

1. Favourable Economic Exchange

2. Absence of political domination

3. Mutual respect for cultures

4. Appropriation and codification of knowledge

Options :

22742781845. 1
22742781846. 2
22742781847.3
22742781848. 4

Question Number : 87 Question Id : 22742721007 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742781845. 1
22742781846. 2
22742781847.3

22742781848. 4

Question Number : 88 Question Id : 22742721008 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who moved a resolution supporting voting rights for women at the Indian national congress session held at delhi in 19187

1. Sarladevi Chaudhurani

2. Kamladevi Chattopadhyay
3. Avantikabai Gokhale

4 | atika Ghosh

Options :

22742781849. 1
22742781850. 2
22742781851. 3
22742781852. 4

Question Number : 88 Question Id : 22742721008 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

WA 9T I 1918 3 et o oaiore e # A o 4 et gt o e o s 1 U Wl g o0 4
1. el R

2, aa:| a qu mw

3. SfapaT g

4. e Hm

Options:

22742781849. 1

22742781850. 2

22742781851. 3

22742781852. 4

Question Number : 89 Question Id : 22742721009 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who among the following feminist thinker is known for her work on Ecofeminism emphasizing the connection between
environment and gender issues?

1. Sharmila Rege

2. Vandana Shiva

3. Kamla Bhasin

4. Kum Kum Sangari
Options :
22742781853. 1
22742781854. 2
22742781855. 3

22742781856. 4

Question Number : 89 Question Id : 22742721009 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742781853. 1
22742781854. 2
22742781855. 3

22742781856. 4

Question Number : 90 Question Id : 22742721010 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



What is the proposed name of new Criminal Procedure Code?

1. Bharatiya Naya Sanhita

2. Bharatiya Nogarik Naya Sanhita

3. Bharatiya Nagarik Suraksha Sanhita
4 Bharatiya Sakshya Adhiniyam
Options :

22742781857. 1

22742781858. 2

22742781859. 3

22742781860. 4

Question Number : 90 Question Id : 22742721010 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742781857. 1
22742781858. 2
22742781859. 3

22742781860. 4

Question Number : 91 Question Id : 22742721011 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



How can family influence gendered education?

A. By promoting gender equality and challenging stereotypes

B. By enforcing traditional gender role and expectations

C. By excluding discussion about gender from family conversations

D. By encouraging children to choose careers without considering gender norms.
Choose the correct answer from the options given below:

1. Band C only
2. Aand C only
3. Aand D only
4 Cand D only

Options :

22742781861. 1
22742781862. 2
22742781863. 3

22742781864. 4

Question Number : 91 Question Id : 22742721011 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742781861. 1
22742781862. 2
22742781863. 3

22742781864. 4

Question Number : 92 Question Id : 22742721012 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What is the main aim of interdisciplinary research?

A To over simplify the problem of research

B. To bring out the holistic approach to research

C. To create new trend in research methodology.

D. To reduce the emphasis on a single subject in the research domain
Choose the correct answer from the options.

1. Aand B only
2. Aand C only
3. B and C only
4 Cand D only

Options :

22742781865. 1
22742781866. 2
22742781867. 3

22742781868. 4

Question Number : 92 Question Id : 22742721012 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. Had A AR B
2 HATAMRC
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4 HIAC AR D

Options :

22742781865. 1
22742781866. 2
22742781867. 3

22742781868. 4

Question Number : 93 Question Id : 22742721013 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following structural variable determine women'’s work in India:
A Regional difference

B. Labour Market

C. The family, caste, class

D. Food Preferences

Choose the correct answer from the options.

1. A, B and C only
2. A BandD only
3. A Dand Conly
4 B, CandD only

Options :

22742781869. 1
22742781870. 2
22742781871.3
22742781872. 4

Question Number : 93 Question Id : 22742721013 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. $ddA B3R C
2 HadA B3RD
3. HadA D3R C
4 HAAC 3R D
Options :
22742781869. 1
22742781870. 2
22742781871. 3

22742781872. 4

Question Number : 94 Question Id : 22742721014 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What is the primary focus of maternal health policies and programs?
A. Providing childcare allowances

B. Increasing equity and reducing poverty

C. Ensuring safe pregnancy child birth and postnatal care for women
D. Providing mandatory day care centres.

Choose the correct answer from the options.

1. Aand B only
2. B and D only
3. B and C only
4 Cand D only

Options :

227427818731
22742781874. 2
22742781875. 3

22742781876. 4

Question Number : 94 Question Id : 22742721014 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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3 HadB AR C
4 &ad C AR D

Options :

227427818731
22742781874. 2
22742781875. 3

22742781876. 4

Question Number : 95 Question Id : 22742721015 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What does women's empowerment primarily involve?

A Increasing women's involvement in decision making processes

B. Enhancing women’s ability to access education, income and resources

C. Actions to transform the structures and institutions that reinforce and perpetuate gender discrimination and in equality
D. Exclusively fousing on women's physical strength

Choose the correct answer from the options.

1.A CandD only
2.A BandConly
3.8, Cand D only
4. C, BandD only

Options :

22742781877. 1
22742781878. 2
22742781879. 3

22742781880. 4

Question Number : 95 Question Id : 22742721015 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742781877. 1
22742781878. 2
22742781879. 3

22742781880. 4

Question Number : 96 Question Id : 22742721016 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are the characteristics of case study Method?
A_ It is done in a Laboratory

B. It is Particularistic

C. It is Descriptive

D. It is Inductive

Choose the correct answer from the options.

1. A, B and C only
2.B, Cand D only
3. C, DandAonly
4 B, DandAonly

Options :

22742781881. 1
22742781882. 2
22742781883. 3
22742781884. 4

Question Number : 96 Question Id : 22742721016 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. $ddA B3R C
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Options :
22742781881. 1
22742781882. 2
22742781883. 3

22742781884. 4

Question Number : 97 Question Id : 22742721017 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The major objectives of the menstrual hygiene schemes are:

A.Toincrease awareness among adolescent girls menstrual hygiene

B. To increase access to and use of high-guality sanitary napkins to adolescent girls in rural area
C. To ensure safe disposal of sanitary napkins is an environmental friendly manner

D. To provide menstrual leave

Choose the correct answer from the options.

1. A, Band C only
2. B, Cand D only
3. C,DandAonly
4 A Dand B only

Options :

22742781885. 1
22742781886. 2
22742781887. 3

22742781888. 4

Question Number : 97 Question Id : 22742721017 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ot 4 Tasdl THIHl & TE I3 T 82

A TS Y8 Wl & 9R | (SRl & 919 Ireadl ST
B .ITHI & o fhenfal & fou 3= o & el Tufe- &1 Ugd 3R WG & doH]
C.UgiaR 3dd &7 U TiHed JuleH &1 Rigd Fuer gRiEa &

D AT ¢H HTHIE HgH BT

i RU 70 [d®<g § ¥ T8t IR @I 99 diteg

1. ®HadA B3R C
2 %4dB,C3ARD
3. %adaC, D3RA
4 HadA, D AR B

Options :

22742781885. 1
22742781886. 2
22742781887. 3

22742781888. 4

Question Number : 98 Question Id : 22742721018 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statement about "Mukhay Mantri Suposhan Abhiyan" of Chhattisgarh state is/are correct?
A Eradication of Malnutrition

B. It s for persons between 15-49 years age group

C. Itis for girls and women aged between 15-49 years

D. Women and child welfare department will implement this Abhiyan

Choose the correct answer from the options.

1.A BandC only
2.A BandD only
3. A, Cand D only
4.B, Cand D only

Options :

22742781889. 1
22742781890. 2
22742781891. 3

22742781892. 4

Question Number : 98 Question Id : 22742721018 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. $IdABC
2 HadABD
3 HadACD
4 HadBCD

Options :

22742781889. 1
22742781890. 2
22742781891. 3

22742781892. 4

Question Number : 99 Question Id : 22742721019 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Who were the women University Grants Commission Chairpersons?
A_Dr. Madhuri R. Shah

B. Dr. Hansa Mehta

C. Dr. Armaity Desai

D. Dr. Indarjeet Kaur

Choose the correct answer from the options.

1. Aand B only
2. Aand C only
3. B and C only
4 Cand D only

Options :

22742781893. 1
22742781894. 2
22742781895. 3

22742781896. 4

Question Number : 99 Question Id : 22742721019 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fayfaeTea sMaH A & Afed =e HIF-BH e 4?
A ST TR SR X8

B =l g Hgdl

C 31 Rl G

D31 gaeiid dR

J feu 70 faeey | § 981 SR &1 904 it

1. Had A AR B
2 HATAMRC
3 A B AR C
4 HIAC AR D

Options :

22742781893. 1
22742781894. 2
22742781895. 3

22742781896. 4

Question Number : 100 Question Id : 22742721020 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following tribal society do not allow women to inherit ancestral or immoveable property owing to their customary
law?

A Liangmal
B.Mizo

C. Rengma
D. Monpa

1. Aand B only
2. Aand Conly
3. Band Conly
4 Cand D only



Options :

22742781897. 1
22742781898. 2
22742781899. 3

22742781900. 4

Question Number : 100 Question Id : 22742721020 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

G 8 DR ] S T 2 o RV Al & QR 1 3w 90l & TR 1 argffa 7o) ol
FRIEd H § OH-8 TwTd ST 0 ST PR & RV Aiganal ®f QRaH 31 3 HUf & IR 1 A ol Gl

Zn
nY

AT

B

C3m

DA

3 few T e 7 9 98 S @1 T Ao

1. TaTA IR B
2 FATAIRC
3 AR ARG
4 $3GC ARD
Options :
22742781897. 1
22742781898. 2
22742781899, 3

22742781900. 4

Question Number : 101 Question Id : 22742721021 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which of the following feminist organised the first women's convention in Seneca Falls, New York in 18487
A Elisabeth Cady Stanton

B. Lucretia Mott

C. Susan B. Anthony

0. Abby Kelley Foster

Choose the correct answer from the options.

1. Aand B only
2. Aand C only
3. Band C only
4 Cand D only

Options :

22742781901. 1
22742781902. 2
22742781903. 3

22742781904. 4

Question Number : 101 Question Id : 22742721021 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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A Ty Hgl Ked

B s Alc

C.gaH 1 T

D Tsail dheil BREY

4 16U T fdey & 9 T IR &1 70 ST

1. BAqAIRB

2 HATAARC

3. Had B AR C

4 Had C IRD
Options :
22742781901. 1
22742781902. 2
22742781903. 3

22742781904. 4

Question Number : 102 Question Id : 22742721022 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In which period the feminisation of international migration a key aspect of migration has given rise to new debates on migration,
gender and globalisation?

A Early 1980’
B. Late 1970’
C. Early 1990’
D. Late 1990's
Choose the correct answer from the options.

1. Aand B only
2.Band Conly
3. Cand D only
4 Band D only

Options :

22742781905. 1
22742781906. 2
22742781907. 3
22742781908. 4

Question Number : 102 Question Id : 22742721022 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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A feu e fodeg ¥ © U SR &1 7 difag

1. HaqA IR B
2 BIAB AR C
3. %30 C AR D
4 HIAB WD
Options :
22742781905. 1
22742781906. 2
22742781907. 3

22742781908. 4

Question Number : 103 Question Id : 22742721023 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What are the most important parts of research proposal?
A Hypothesis

B. Methodology

C. Publication

D. Objectives of the study

Choose the correct answer from the options.

1. A, B and C only
2. A BandD only
3. A CandD only
4 B, CandD only

Options :

227427819009. 1
22742781910. 2
22742781911.3
22742781912. 4

Question Number : 103 Question Id : 22742721023 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



MY YT & Faiide Hgaqyl HIT BiF-4 82
A TR eg

B Jeid

C UdIEH

=, =

D 0 & Jg=d

-

T fau U faded | 9 gt ST &I 994 Sifoie

1. $ddA B3R C
2 HadA B3RD
3. WadA C3RD
4 HAdB. C 3R D
Options :
227427819009. 1
22742781910. 2
22742781911. 3

22742781912. 4

Question Number : 104 Question Id : 22742721024 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What are the three age based certification feature of the cinematography (Amendment Bill) which was infroduced in the Rajya
Sabha on July 20, 2023?

A Seven years (UAT+)

B. Thirteen years (UA 13+)

C. Sixteen years (UA 16+)

D. Twelve years (UA 12+)

Choose the correct answer from the options.

1.A Band C only
2.A BandD only
3.A Cand D only
4.B,Cand D only

Options :

22742781913. 1
22742781914. 2
22742781915. 3

22742781916. 4

Question Number : 104 Question Id : 22742721024 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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i T T faded # © & IR &1 7 DL

1. $9qA B3R C
2 HadA B R D
3. HAGA CIRD
4 HaAB. C3IRD
Options :
22742781913. 1
22742781914, 2
22742781915. 3

22742781916. 4

Question Number : 105 Question Id : 22742721025 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The role of the National Commission for Women (NCW) is to:
A_ It has no actual legislative powers

B. It can recommend remedial legislative actions

C. It does not have the power to choose its own members

D. It has the power to choose its own members

Choose the correct answer from the options.

1. Aand B only
2. Aand C only
3. Aand D only
4 Cand D only

Options :

22742781917. 1
22742781918. 2
22742781919. 3

22742781920. 4

Question Number : 105 Question Id : 22742721025 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. Had A AR B
2 Had AAR C
3. ®ad AAR D
4 HIAC AR D

Options :

22742781917. 1
22742781918. 2
22742781919. 3
22742781920. 4

Question Number : 106 Question Id : 22742721026 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The requirement of the Bechdel test are that:

A_Afilm must have at least two female characters

B. Female characters have an on screen conversation with each other
C. The female characters talk about something other than a man

D. A film must have a heroic male character

Choose the correct answer from the options.

1. A, B, and C only
2. A CandD only
3. B, Cand D only
4 A BandD only

Options :

22742781921. 1
22742781922. 2
22742781923.3
22742781924. 4

Question Number : 106 Question Id : 22742721026 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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J feu 70 faeey | § 981 SR &1 904 it

1. HadA B3R C
2 Bad A, C AR D
3. ®dd B, C AR D
4 HIAA B3ARD

Options :

22742781921. 1
22742781922. 2
22742781923.3
22742781924. 4

Question Number : 107 Question Id : 22742721027 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following facts of ‘Feminisation of poverty’ is true?

A Aterm coined by Martha Nussbaum

B. Disproportionate socio-economic precarity women face relative to men due to gender stereotypes and norms
C. Absence of economic opportunities and autonomy

D. Lack of access to education and support services

Choose the correct answer from the options.

1.A BandC only
2.B,Cand D only
3. A CandD only
4 A BandD only

Options :

22742781925. 1
22742781926. 2
22742781927.3

22742781928. 4

Question Number : 107 Question Id : 22742721027 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1 BadA B3R C
2 $qaB, CARD
3 $qdA CHRD
4 $aaA BIRD

Options :

22742781925. 1
22742781926. 2
22742781927.3

22742781928. 4

Question Number : 108 Question Id : 22742721028 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are government of India schemes for women entrepreneurs?
A_Annapurna Scheme

B. Sukanya Samriddhi Yojana

C. Mudra Yojana Scheme

D. Dena Shakti Scheme

Choose the correct answer from the options.

1. A, B and C only
2.B, Cand D only
J. A CandD only
4 A BandD only

Options :

22742781929. 1
22742781930. 2
22742781931.3

22742781932. 4

Question Number : 108 Question Id : 22742721028 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. $ddA B3R C
2 ®adB. C 3R D
3. WadA C3RD
4 HAdA B3RD
Options :
22742781929. 1
22742781930. 2
22742781931. 3

22742781932. 4

Question Number : 109 Question Id : 22742721029 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Sexual Harassment includes the following unwelcome acts or behaviour:
A. Physical contact and advances!

B. Making Sexually coloured remarks

C. Showing Pornography

D. Making curt comments

Choose the correct answer from the options.

1. A, B and C only
2.B, Cand D only
3. A CandD only
4 A BandD only

Options :

22742781933. 1
22742781934. 2
22742781935. 3
22742781936. 4

Question Number : 109 Question Id : 22742721029 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. $ddA B3R C
2 ®adB. C 3R D
3. WadA C3RD
4 HAdA B3RD
Options :
22742781933. 1
22742781934, 2
22742781935. 3

22742781936. 4

Question Number : 110 Question Id : 22742721030 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



How can we increase the number of female entrepreneurs?
A_Access to Finance

B. Access to Network

C. Providing a high interest loan

D. Publicity of women role models

Choose the correct answer from the options.

1. A, B and C only
2.B, Cand D only
3. A CandD only
4 A BandD only

Options :

22742781937. 1
22742781938. 2
22742781939. 3

22742781940. 4

Question Number : 110 Question Id : 22742721030 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. $ddA B3R C
2 ®adB. C 3R D
3. WadA C3RD
4 HAdA B3RD
Options :
22742781937. 1
22742781938. 2
22742781939, 3

22742781940. 4

Question Number : 111 Question Id : 22742721031 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statement is true about interview technique in feminist research?
A_Respondents are passive vessel of answers

B. Interviews involve co-construction of experiential reality

C. Interviews break hierarchical relationship between research and researched

D. Interviews are always objective

Choose the correct answer from the options.

1. Aand B only
2. Band C only
3. Aand D only
4. Cand D only

Options :

22742781941. 1
22742781942. 2
22742781943.3

22742781944. 4

Question Number : 111 Question Id : 22742721031 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1 Had A AR B
2 ®HaAB AR C
3. ®ad AARD
4 HIAC AR D

Options :

22742781941. 1
22742781942. 2
22742781943.3

22742781944. 4

Question Number : 112 Question Id : 22742721032 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Focus of the primary group in Beti Bachao Beti Padhao Scheme is on:
A Young married couples

B. Pregnant mothers

C. Parents

D. Panchayat members

Choose the correct answer from the options.

1. A, B and C only
2. A BandD only
3. B, Cand D only
4 C,DandAonly

Options :

22742781945. 1
22742781946. 2
22742781947.3

22742781948. 4

Question Number : 112 Question Id : 22742721032 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. $ddA B3R C
2 HadA B3RD
3. ®adB C 3R D
4 HAAC DAARA
Options :
22742781945. 1
22742781946. 2
22742781947. 3

22742781948. 4

Question Number : 113 Question Id : 22742721033 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



|dentify the critics who had dealt with reproduction and motherhood:
A. Carol Gilligan

B. Kate Millet

C. Gayatri C. Spivak

D. Nancy Chodorow

Choose the correct answer from the options.

1. Aand B only
2. Aand C only
3. B and D only
4 Aand D only

Options :

22742781949. 1
22742781950. 2
22742781951. 3

22742781952. 4

Question Number : 113 Question Id : 22742721033 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742781949. 1
22742781950. 2
22742781951 3

22742781952. 4

Question Number : 114 Question Id : 22742721034 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The Mako Mori test is:

A A set of criteria pertaining to the representation of female characters
B. Inspired by the character from 2013 film 'Pacific Rim'

C. Tests masculinity in men

D. Inspired by the comic strip 'Dykes to Watch Out For'

Choose the correct answer from the options.

1. A B only
2. A Conly
3. A Donly
4 C, Donly

Options :

22742781953. 1
22742781954. 2
22742781955. 3
22742781956. 4

Question Number : 114 Question Id : 22742721034 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A TR TfEt & ufaffie 9 S anel o1 99w &

B.2013 & [red '0fihe 7 & fgrR § Uit

—
]
1
i
>
=
@
1]
50y
o
]
=
il
[
=
¢
oy
™
51
-]
21

1. PAdA IR B
2 HAdA IR C
3 HAd A R D
4 HAAC 3R D
Options :

22742781953 1
22742781954, 2
22742781955. 3

22742781956. 4

Question Number : 115 Question Id : 22742721035 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following states have literacy rate over 90% as per 2011 census?
A Kerala

B. Tamil Nadu

C. Goa

D. Mizoram

Choose the correct answer from the options.

1. A B only
2.B, Conly
3. A Donly
4 A Conly

Options :

22742781957. 1
22742781958. 2
22742781959. 3
22742781960. 4

Question Number : 115 Question Id : 22742721035 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. PAdA IR B
2 HadB AR C
3 Had A R D
4 HATAIRC
Options :

22742781957. 1
22742781958. 2
227427819509, 3

22742781960. 4

Question Number : 116 Question Id : 22742721036 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match the following:

List | List [l

Paradigm Advocate

A Positivist  |I. Simone de Beauvoir
B. Interpretive(ll. Theodore Adorno
C. Critical 1. Max Weber

D. Feminist |IV. Aguste Comte

Choose the correct answer from the options.

1. A=, B=1Il,C-IV, D=1l
2A-1IILB-II,C-IV,D-1
JA-ILB-NVC-I|, DI
4 A-IVB-IIlLC-Il,D-1

Options :

22742781961. 1
22742781962. 2
22742781963. 3

22742781964. 4

Question Number : 116 Question Id : 22742721036 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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1. A, B-ll, C-IV, D-llI
2. Al B-lll, C-IV, D-|
3. Al B-IV, C-1, DA
4. A-IV, B-Ill, C-1l, D-|

Options :

22742781961. 1
22742781962. 2
22742781963. 3

22742781964. 4

Question Number : 117 Question Id : 22742721037 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Match the following:

List | List I

Women Leaders |Positions Held
A. Sanna Marin |l. First female president of Taiwan

B. Loreta Lynch|ll. Founder U.5. Attorney General
C. Nancy Pelosi|lll. Speaker of the U.S. House of representative

D. Tsai Ing-wen |IV. Prime Minister of Finland

Choose the correct answer from the options.

1.A-ILB-IILC-IV.D-1l
2 A-1ILB-1ILC-IV,D-I
3A-IVB-I,C-IlIl,D-I
4 A-IVB-IlLC-Ill,D-1
Options :

22742781965. 1
22742781966. 2
22742781967. 3

22742781968. 4

Question Number : 117 Question Id : 22742721037 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Tt | & 9y Gl 11 &1 e sife

Ll il
aem A |wRa e

A I HEF || . d5aE &1 ugdl Afgen agdfd

B . Tier &g |11, 9d 90 sl oo

C. A=t TR, Ted Ien HufET & e Y S Ruviefea ot witey]
D. 9R-37-47 |Iv. fFdis o1 wumes

- &2 ¢ fadedl H ¥ 981 37R &I 98- difeid:

1. A, B-ll, C-IV, DIl
2. AL, Bl C-IV, D-
3. AV, B-l, C-llI, D-II
4 AV, B-ll, C-lII, D-

Options:

22742781965. 1
22742781966. 2
22742781967.3
22742781968. 4

Question Number : 118 Question Id : 22742721038 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match the following:

List | List Il

Strands of Feminism Moted feminist

A Liberal feminism |. Shulamith Firestone
B. Radical feminism . J.5. Mill

C. Post-colonial feminismilll. Maria Mies

D. Eco feminism V. Gayatri Spivak

Choose the correct answer from the options.

1.A-ILB-IILC-IV.D-I
2 A-1LB-1,C-IV.D-1I
JA=LB-1.C-HD=N
4 A—1lLB-IV,C—-Ill, D1
Options :

22742781969. 1
22742781970. 2
22742781971.3

22742781972. 4

Question Number : 118 Question Id : 22742721038 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Tt | & 9y Gl 11 &1 e sife

Ll il

A IR RIdIg | Y B TH
B.3{fd TRIaG IR At

C 3R AYFarEE & &1 ARiarg|| AR B

D 3@ Aiiag VI FaT®
Il e 71U faseal & O U8l 3R &1 994 Piferd:

1. A, B-lll, C-1V, D-lI
2. Al B-1, C-IV, D-llI
3. Al B-l, C-II, D-IV
4. A, B-Iv, C-lll, D-I
Options :
22742781969. 1
22742781970. 2
22742781971.3

22742781972. 4

Question Number : 119 Question Id : 22742721039 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Match the following:

List | List Il

Authors Books

A_Naila Kabeer ||. Gender and Politics in India
B. Gail Omvedt |Il. Social Reform, Sexuality and The State
C. Nivedita Menon|lll. Reversed Realities: Gender Hierarchies in Development Thought

D. Patricia Uberoi (V. Violence Against Women: New Movements and New Theories in India

Choose the correct answer from the options.

1.A-IlLB-IV,C-1 D-Il
2A-1,B-IV.C-1IlI,D-1
JA-IB-1I,.C-1,D-IV
4 A-IVB-I.C-IILD-1I
Options :
227427819731
22742781974. 2
22742781975. 3

22742781976. 4

Question Number : 119 Question Id : 22742721039 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tt | & 91y = || e Sl TRl gis

Ll el
AAEAI PER || SieX US Uifdiead 34 51adl

BId dige |I1.9i=rd Rwid

chafeaam |1 Rads Raferds SR saxies 31 Saaude yie
D UTSTRran SiieRIg|IV.a/ied R diHH: < gaHcy Us - WRie 34 3iedl
Tl fed 71U fgepedl H ¥ UEl IR &1 95 Bifeid;

1. Al B-1V, C-1, D-lI
2. A, B-Iv, C-llI, DI
3. Al Bl C-l, D-IV
4. A-IV, B-I, C-II, D-IlI

Options :

22742781973. 1
22742781974. 2
22742781975. 3

22742781976. 4

Question Number : 120 Question Id : 22742721040 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Match the following:

List | List Il
Terms Explanation
A Meher |. Waiting period after divorce

B. Sapindas |ll. If two persons have a common lineal ascendant
C. Iddat lll. Any present or jewellery given to a woman during marriage

D. Streedhan|lV. Property given to wife in consideration for marriage

Choose the correct answer from the options.

1.A-ILB-IVC-1lILD-1
2 A-1ILB-1IlLC-IV,D-I
JA-=LB-ILC=1 D=
4 A-IVB-1,C-Il.D-1I
Options :

22742781977.1
22742781978. 2
22742781979. 3

22742781980. 4

Question Number : 120 Question Id : 22742721040 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Tt | & 9y Gl 11 &1 e sife

Ll il
U5 R

AHgY || faare fdwse & a1g & Udler srafy

B3Ed |14 al sfeadl & §HH gad 8

C.Of<rg|l faar & aRE afed & fear T &3 3UgR 41 9a1ed
D&ItA |Iv.fdae & T [99R & udl @ & 1 9ufg

-T2 &0 T faeeal & 9 el 3T &l 98 Bifvl:

1. A, B-IV, C-llI, D-lI
2. Al B-lll, C-IV, D-|
3. Al B, G-I, D-IV
4. A-IV, B-1, C-II, D-II

Options :

22742781977. 1
22742781978. 2
22742781979. 3

22742781980. 4

Question Number : 121 Question Id : 22742721041 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Match the following:

List | List Il
Authors Books
A Maria Mies I. Exploring Masculitnity

B. Vandana Shiva|ll. Women, the lost colony
C. Gail Omvedt |lll. Earth Democracy

D Kamila Bhasin IV, Dalit Visions

Choose the correct answer from the options.

1A-ILB-IlL,C-IV.D-1ll
2 A-1LB-IlLC-IND-
JA-NLB-IVC-Il,D-]
4 A—-IVB-1, C—1lIl,D-1
Options :

22742781981. 1
22742781982. 2
22742781983. 3

22742781984. 4

Question Number : 121 Question Id : 22742721041 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T

Tt | ' 9Ty Tl 1| &1 e e

Ll il

A_iﬁmm | U@ T HEpleic]
BAGAI G |11 d1HH, € TR Bicil
C.71d 3ffage|iil 3 Sxtshdl
D ®Hal HHH|Iv &ferd faw-d
Tl fed 71U faepedl H ¥ UEl IR &1 94 Bifeid;

1. A, B-ll, C-IV, D-llI
2. Al B-lll, C-IV, D-|
3. Alll, B-IV, C-ll, DAl
4. A-IV, B-1, C-Ill, D-II

Options :

22742781981. 1
22742781982. 2
22742781983. 3

22742781984. 4

Question Number : 122 Question Id : 22742721042 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Match the following:

List | List Il

Women Entrapremear  |Enterprise

A_ Falguni Nayar I. Chairperson, Biocon

B. Kiran Mazumdar Shaw|ll. CEO, HCL

C. Roshni Madar lll. Founder CEO, Nyka

D. Aditi Gupta IV. Co-founder, Menstrupedia

Choose the correct answer from the options.

1LA-I,B-I,LC-IV,D-I
2 A-llLB-1,C-1lI, D-IV
JA-1.B-UILC-IILD-1IV
4 A—1lLB-IV.C-1lll,D-1
Options :

22742781985. 1
22742781986. 2
22742781987.3

22742781988. 4

Question Number : 122 Question Id : 22742721042 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tt | & 9y Gl 11 &1 e sife

Ll il
Higar ! el
ABEH AER || 9830E4, Sh®HE

B.faur goGR 1.4 3 3, g 9l ud

C T TSR |l TRITTD, T S 31, A5
D sifefd e IV TE-SRITUe HETuitean
el fed 70 fgpedl H ¥ Hel IR &1 95 B

1. Al B-II, C-1V, D-I
2. Alll, B-l, C-Il, D-IV
3. A, B-ll, C-Il, D-IV
4. Al B-IV, C-lll, D-|

Options :

22742781985. 1
22742781986. 2
22742781987.3

22742781988. 4

Question Number : 123 Question Id : 22742721043 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Match the following:

List | List I

Sport Person Discipline

A. Dipa Karmakar |I. Weightlitting

B. Mirabai Chanu (Il. Gymnastic

C. Deepika Kumari |11l Cricket

D. Jhulan Goswami/l\V. Archery

Choose the correct answer from the options.

1A-1LB-IlLC-1I,D-IV
2A-1LB-IV.C-Ill,D-
3JA-IVB-I,C-IllLD-1
4 A—llLB-1,C-IV. D1l
Options :

22742781989. 1
22742781990. 2
22742781991. 3

22742781992. 4

Question Number : 123 Question Id : 22742721043 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T

Tt | ' 9Ty Tl 1| &1 e e

Ll il

Afﬁm HHBR || HRTH
B.AREm: I ||l SEfes
¢ gl $aRII fhde

BEGERIEE I WA EHE
i e 7Y fashedl # ¥ HEl IR &1 99 Bifed:

1. A, B-lll, C-ll, D-IV
2. Al B-IV, C-lll, D-|
3. AV, B-1, C-lII, D-II
4. Al B-l, C-IV, D-IlI

Options :

22742781989. 1
22742781990. 2
22742781991. 3

22742781992. 4

Question Number : 124 Question Id : 22742721044 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Match the following:

List | List [l

People Work

A_Anglina Jolie |I. An Acid attack survivor who become the face of protest against acid attack.

B. Laxmi Agarwal{ll. In her ethnographic work “why loiter” she shows the act of loitering is more prevalent among men

C. Shilpa Padke [lll. launced the 'Heforshe’ movement

D. Emma Watson|lV. Played a big role in raising awareness about breast cancer through her personal story.
Choose the correct answer from the options.

1A-NB-IC-Il.D-
2A-1B-ll.C-1Il,D-IV
JA-1B-II,C-VD-I
4 A-1LB-IVC-1.D-1l
Options :
22742781993, 1
22742781994, 2
22742781995. 3

22742781996. 4

Question Number : 124 Question Id : 22742721044 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tt | & 1 Gl || 1 e B

Gl gl |
Kl e

A e et | TS oiew ifse of TS 31ed o fawre @l ol &l
B TIeH SfEFaTei| | 30 ol i H ‘s wide} H Sl § fob o Heferd T GouT H i e ©

C.Rrear ueds (1135 2 R X e e
DT GIeT ||V, 301 AfckHTd el o e U SRe iR & aR H TFREddl g6 | Ted! Yffe Hur
el fed T fawedl # O W81 SR &1 99 B

1. A-IV, B, C-II, D-IlI
2. A, B-Il, CIIl, D-IV
3. Al BN G-IV, D
4. Al B-IV, C-l, D-ll

Options :

22742781993. 1
22742781994, 2
22742781995. 3

22742781996. 4

Question Number : 125 Question Id : 22742721045 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Match the following:

List | List Il

Work People

A. Sappho for Equality|l. First gay anthology edited by Hoshang Merchnat

B. Queer Link Il an exclusive publishing and marketing agency on LG BT Literature
C. Yarana NIl India's first gay magazine launched by Ashok Rao Kavi

D. Bombay Dost  {IV. An organistion based in Kolkata, working for the rights of lesbians, bisexual women and transmen in Eastern India.
Choose the correct answer from the options.

1 A-1l B-1,C~I,D-

2 A=l B-1C-VD-
3 A-1B-ll.C-1D-IV
4 A-IVB-II,C-1 D-1I
Options :

22742781997. 1
22742781998. 2
22742781999. 3

22742782000. 4

Question Number : 125 Question Id : 22742721045 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tl | & oy i 1 @1 e o

k&l kil

il e

A ST R SPITC| BRI Fde G e HUW Seeie Sa

plomfie | uadeid et @t o yemie fauuH T

CIWA || S T3 B G 5% (o0 4R o FUH FCie et

DEMER [V HRG Ot Sy AieaTd AR IRIHT! G & BRI (o0 P e aTel I U S

Fr fE2 70 fodpedt & € e SR @1 9 Bl

1Al B CIl DAV
2 Adll, BI, C-IV DA
3 A BIL C-lI, DAV
4 AV, BAI, CI, DI



Options :

22742781997. 1
22742781998. 2
22742781999. 3
22742782000. 4

Question Number : 126 Question Id : 22742721046 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Chronologically arrange the following women specific legislations.
A. Commission of Sati (prevention) Act

B. Immoral Traffic (Prevention) Act

C. Protection of women from Domestic Violence Act

D. The Dowry Prohibition Act

Choose the correct answer from the options.

1.C,D,A B
2 B,DAC
3ACDB
4 A B CD

Options :

22742782001. 1
22742782002. 2
22742782003. 3
22742782004. 4

Question Number : 126 Question Id : 22742721046 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fFafaiad afga fafRy [yl o SrasaguR gafeyd Hift

A Tt (Farom) gy

B 3Hfa® =omar (Farm) ifafas

¢ = fear © afgarsit & dramn sfafmm
D Eed ufagy sfefgs

a0 o [y

- a8 T fameal § © Tal SR &1 994 it

1.C,D,A B
2 B,DAC
3ACDB
4 A B CD

Options :

22742782001. 1
22742782002. 2
22742782003. 3

22742782004. 4

Question Number : 127 Question Id : 22742721047 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange following development approaches in sequence:
A Gender and Development (GAD)

B. Women, Environment and Development (WED)

C. Women and Development (WAD)

D. Women in Development (WID)

Choose the correct answer from the options.

1.D,A B, C
2.B,C,DA
3D, CAB
4 A B CD

Options :

22742782005. 1
22742782006. 2
22742782007. 3
22742782008. 4

Question Number : 127 Question Id : 22742721047 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fFafatad faery Jddt Surml &1 981 1 1 sy

A foi1 SR fa@g =iesh

B g, TaiaRvl 3R [da¥ (S=zei)

¢ Al IR Ao (=13l

D fasT R Afed (S an

- ,_\_L o -

- &g 70 fasoal 7 O Ol SR &1 997 Pl

1.D,A B, C
2.B,C,DA
3D, CAB
4 A B CD

Options :

22742782005. 1
22742782006. 2
22742782007. 3

22742782008. 4

Question Number : 128 Question Id : 22742721048 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following in sequence:

A National Population Policy

B. Towards Equality Report

C. National Empowerment Policy for women

D. Shramshakti Report of the National Comission on self Employed Women and Women in Informal Sector.
Choose the correct answer from the options.

1.AB,C,D
2.B,C,D,A
3.D,A B, C
4 B,D,A,C

Options :

227427820009. 1
22742782010. 2
22742782011.3

22742782012. 4

Question Number : 128 Question Id : 22742721048 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fFrafaiad @1 %9 5 T3
A TBTY ST i

B IHdl @l 3R e

C PTG Aiga Faqa=r Hifd
D TRISHTR WTe Afgaia 3R Fu=iRe & H Afgenst Yaeh Wi o @1 47 /i Rur
Fe fed e faepedl 7 € HEl IR &1 95 il

1A BCD
2.B,C,D,A
3.D,AB,C
4 B,D,AC

Options :

227427820009. 1
22742782010. 2
22742782011.3
22742782012. 4

Question Number : 129 Question Id : 22742721049 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following in sequence:

A Stop Acid Sale

B. Shahada Movement

C. National Federation of Indian Women

D. Non Cooperation Movement

Choose the correct answer from the options.

1.A,B,C,D
2 C BAD
3.D,A B C
4 D C BA

Options :

22742782013. 1
22742782014. 2
22742782015. 3
22742782016. 4

Question Number : 129 Question Id : 22742721049 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



FEfeRad ®f SahHARYR Sfad %5 § et

A TS @f fo9w! §9g 39

B TETaT HaieH

L

C.HR<g TFTg Afedl Uiy

D 3T JHigieH

- &g 70 fasoal 7 O Ol SR &1 997 Pl

1.A,B,C,D
2 C BAD
3.D,A B, C,
4 D C BA

Options :

22742782013. 1
22742782014. 2
22742782015. 3

22742782016. 4

Question Number : 130 Question Id : 22742721050 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following schemes in sequence:
A Swadhar greh

B. Mahila E-Haat

C. Mahila Shakti Kendra

D. One-stop center

Choose the correct answer from the options.

1.A,B,C,D
2.B,C, DA
3.C,DAB
4 D B CA

Options :

22742782017. 1
22742782018. 2
22742782019. 3
22742782020. 4

Question Number : 130 Question Id : 22742721050 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fgfafad e @f 3fUd &9 5 Trsa
A TR T8
B ARSI

C Afge miga &g
D d1-F0 &g

41 feg v famedl § © 981 391 @1 999 Bifad:

1.A,B,C,D
2.B,C, DA
3.C,DAB
4 D B CA

Options :

22742782017. 1
22742782018. 2
22742782019. 3

22742782020. 4

Question Number : 131 Question Id : 22742721051 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Chronologically arrange the methodology used for preparing All India Survey on Higher Education (AISHE) Report
A. Registration of Higher Education Institution (HEI)

B. Identification of HEI

C. Compilation and analysis of data

D. Collection and verification of Data

Choose the correct answer from the options.

1.AB,D,C
2ACBD
JACDB
4 B,AD,C

Options :

22742782021. 1
22742782022. 2
22742782023. 3
22742782024. 4

Question Number : 131 Question Id : 22742721051 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Je e St T+ W (0 37 T8 U ) RUle SR o o fore i Wl 6 e e
A. A e SR (T 5 91 ) 1 ol
B. T4 % 315 1 T6aH o

C. 3fids! &1 HHa IR G

D. 3fi@s! &1 TR 3R faweyw
= fT 70 foden # € 951 IR @1 95 divd

1.AB,D,C
2ACBD
3ACDB
4 B,ADC

Options :

22742782021. 1
22742782022. 2
22742782023. 3

22742782024. 4

Question Number : 132 Question Id : 22742721052 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following in chronological order:

A_ Saudi Arabia Lifts ban on female drivers

B. The protection of Women from domestic violence Act

C. Roe vs Wade handed the difficult decision of whether to end a pregnancy
D. The United Nations Passes a resolution banning female genital mutilation
Choose the correct answer from the options.

1.A,B,C,D
2.B,D,CA
3.C,B,D,A
4 DA BC

Options :

22742782025. 1
22742782026. 2
22742782027. 3
22742782028. 4

Question Number : 132 Question Id : 22742721052 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



FofaRad @ T8 SIaHaaR Ts:

A. T3¢l R4  Higd dIdd| W Widsy el

B. Tx¢] TS © Higa & U&T AiH=gH

C. A S 9 7 § 714 o JAG &Y S1ydl a1 @ disq Fofg &g mn

D. ¥gad Y 7 AT S & 3T Bl Ufdsfdd S dre Ybed uiid foan

D

2 feu 7T fAeey & 9 et IR @ 994 difed:

1.A,B,C,D
2.B,D,CA
3.C,B,D,A
4 DA BC

Options :

22742782025. 1
22742782026. 2
22742782027. 3

22742782028. 4

Question Number : 133 Question Id : 22742721053 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What is the chronological sequence of the establishment of the following institutions working for women and children in India?
A Ministry of Women and Child Development

B. National Commission for Women

C. Department of Women and Child Development

D. National commission for Protection of Child Rights

Choose the correct answer from the options.

1.ADBC
2B,ADC
3.CBAD
4D CBA

Options :

22742782029. 1
22742782030. 2
22742782031. 3

22742782032. 4

Question Number : 133 Question Id : 22742721053 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



~

R § Afgani 3R 9= & fow srikg FafoRad gwnsi & A1 & Slasd J1E 2

A AR 3R 919 9o F37ag
B. TP Hfedl M

C. Afgar 3R 919 [aem faym

D. TETY 91t MTYPR TRE AT

i U T fadhed ® U UE1 IR &1 99 Difed:

1.A,D,B,C
2 B,ADC
3.C,BAD
4 D,C BA

Options :

22742782029. 1
22742782030. 2
22742782031. 3

22742782032. 4

Question Number : 134 Question Id : 22742721054 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange chronologically the following legislations of India as per the year of their enactment
A_The Family Courts Act

B. Medical Termination of Pregnancy

C. The Indecent Representation of Women (Prohibition) Act

D. The Maternity Benefit Act

Choose the correct answer from the options.

1A BCD
2.B,C,D,A
3.C,D,AB
4 D,BAC

Options :

22742782033. 1
22742782034. 2
22742782035. 3

22742782036. 4

Question Number : 134 Question Id : 22742721054 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



URd & HEfREd S &1 390 a0 & 98 & FTUR SIS aIaR asd:

A Tdd T HTETH

B. TH &1 fafdecaig A
C. T e Tgu miauy ) fafas
D. AT oY fafgm

2 feu 7T fAeey & 9 et IR @ 994 difed:

1.A,B,C,D
2.B,C, DA
3.C,DAB
4 D BAC

Options :

22742782033. 1
22742782034. 2
22742782035. 3

22742782036. 4

Question Number : 135 Question Id : 22742721055 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following statements chronologically:
A Gender is a performative Act

B. Shadow Pandemic

C. One is not born a Women but becomes one
D. The Problem with no name

Choose the correct answer from the options.

1.A,B,C,D
2.B,C, DA
3D, CAB
4 B,D,C A

Options :

22742782037. 1
22742782038. 2
22742782039. 3
22742782040. 4

Question Number : 135 Question Id : 22742721055 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Fafaiad &Yl &1 BIHHRYTR T3y

A o e Aegeer o €

B. 9IS HeWRI

L A

C. Afge Ugr 981 Bidt, s 9Idt ©

D. T foH®I ®is 19 Tol o

g feu 70 fadey # 9 98T SO &1 997 Bifed:

1.A,B,C,D
2.B,C, DA
3D, CAB
4 B,D,C A

Options :

22742782037. 1
22742782038. 2
22742782039. 3
22742782040. 4

Question Number : 136 Question Id : 22742721056 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Given below are two statements, one Is labelled as Assertion (A) and ofher one [abelled as Reason (R).

Assertion A - Despite higher educational attainment of women FLFPR (Female labor force participation rate) is showing a
declining trend in India

Reason R - Educated Women are unwilling to work
In light of the above statements, choose the comect answer from ine options given below.

1. Both Aand R are correct and R is the correct explanation of A

2. Both Aand R are correct but R is NOT the correct explanation of A.
3. Alis comect but R is not correct

4 Ais not correct but R is correct

Options:



22742782041.1
22742782042. 2
22742782043. 3

22742782044. 4

Question Number : 136 Question Id : 22742721056 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A & B U U ;W@ oG (Assertion A) & U ¥ fifdd & ol GUR1 37 ®RU (Reason R) & &0 &

YT A- 4R H Aol 1 Saian Qe Juciel  aTaslg U U0 U U 3 (R W a1 WP & ) H & Wl &9
WE LR

R R - e afget ad & 1 6 G ¢
SR B o e 5, Fid 50T fawed 1 3 G S0H IR @1 90 Bl

1 ARRET T2 IR AD T TE 2

2 ASRRTH TR E iR AD TS e T 8
3 AT R RTE TR

4 AT TR S TR T &

Options :

22742782041. 1

22742782042, 2

22742782043, 3

22742782044. 4

Question Number : 137 Question Id : 22742721057 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion (A) and other one labelled as Reason (R).
Assertion A : The emerging technologies while improving our lives in many ways have created the “Digital Divide"
Reason R : Most women are engaged in the domestic and informal sector work environment

In light of the above statements, choose the correct answer from the options given below.

1. Both Aand R are correct and R is the correct explanation of A.
2. Both Aand R are correct but R is NOT the correct explanation A.
3. Ais correct but R is not correct

4 Ais not correct but R is correct

Options :

22742782045. 1
22742782046. 2
22742782047.3
22742782048. 4

Question Number : 137 Question Id : 22742721057 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

I & Ty KU E 1@ @ (Assertion A) & &0 H i & I GO 3 R (Reason R) & €4 Y
AU A - SUR W0 = e FoR 8 g v 8§ QYR &3 & 1Y — 9y ffored favrem S e &
HRUR - G AR W R e &7 & o8 Wag d all g5 &

TR BYA B HTciien §, i 13T 70 fdped § T e’ 395ad SR &1 954 Do

1 AARRGH a1 8 iR R A D! Tgl aara &

2 AR R GHI TEI 8 b R, AT Tgl oare el &
AT T ASIREE e

4 AGRI TR g AT R U

Options:
22742782045. 1
22742782046. 2

22742782047. 3



22742782048. 4

Question Number : 138 Question Id : 22742721058 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion (A) and ofner one labelled as Reason (R).

Assertion A The Shakti scheme has been offering women free travel in non-premium services of the state-run road transport
Corporation (RTC)

Reason R - There are numerous schemes, programmes and incentives being presented by the government of India in order to
promote women's empowerment

In light of the above statements, choose the correct answer from the options given below.

1. Both Aand R are correct and R is the correct explanation of A
2 Both Aand R are correct but R is NOT the correct explanation A.
3. Ais comect but R is not correct

4 Als not correct but R is correct

Options :

22742782049. 1
22742782050. 2
22742782051. 3
22742782052. 4

Question Number : 138 Question Id : 22742721058 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



3 @ @ UL 3 W@ A (Assertion A) 3 U H ffd & A GRI 370 SR (Reason R) & ®UH

A A - e TI5H & Sfeial T B Haierd TS Uag dvieH (3 & 1) 1 - diftvam Sared  afgenol & e
T 91 e e @ g g

PRI R - T TG 31 96701 ¢ & T 4RT a3 &2 T Siaa] 3R Ui TeH o a1 i 2l
SRIT B & 1§, T U0 fodey 1 8 e S0 T 3 T Do

1 ANRRGT T2 RR AT T8 oI

2 AFRRGT T2 UG R AT T AN TR 8
J AR TR T

L AT TR WEIR TR

Options :

22742782049. 1
22742782050. 2
22742782051.3
22742782052. 4

Question Number : 139 Question Id : 22742721059 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, ong is labelled as Assertion (A) and other one labelled as Reason (R).
Assertion A : A gender studies teacher Sensitises students on gender discrimination.

Reason R : A gender studies teacher uses a unilateral perspective to teach gender issues in the classroom
In light of the above statements, choose the comrect answer from the options given below.

1. Both Aand R are correct and R Is the correct explanation of A.
2. Both Aand R are correct but R is NOT the correct explanation A.
3. Ais correct but R is not correct.

4. Ais not correct but R is correct.

Options:

22742782053. 1

22742782054. 2



22742782055. 3
22742782056. 4

Question Number : 139 Question Id : 22742721059 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fid @ &y U0 R U offiHYH (Assertion A) & &0 § fifEd & A GUY 37 BRY (Reason R) & €Y F
AT A - ol anmenfd areng &1 e 313 Tl @ i aeid 46 19 & SR 9ed e ¢

SRR - o 2R 2reg &1 g da o fofm Heiel fawal @i g # v Uy il e &

TRIe HYH & el §, i U T fdebed 3 U Yo I S &1 99 B

1. AR R T Tl 8 AR R A DI U8 arE 3

2 AIR R GHI Gal § iR A U5l Re Tal o
3 AT AFIR T R

4 AT TR APIR TR

Options:

22742782053. 1

22742782054. 2

22742782055. 3

22742782056. 4

Question Number : 140 Question Id : 22742721060 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion (A) and otner one labelled as Reason (R).

Assertion A Women'’s reservation Bill will ensure that women form a strong lobby in parliament to fight for issues that are often
ignored

Reason R Women's reservation bill wil facilitate the entry of upper class urban educated women in the parliament
In light of the above statements, choose the comect answer from ine options given below.

1. Both Aand R are correct and R is the correct explanation of A.
2. Both Aand R are correct but R is NOT the correct explanation A.
3. Alis comect but R is not correct

4 Ais not corect but R is correct

Options :

22742782057. 1
22742782058. 2
22742782059. 3
22742782060. 4

Question Number : 140 Question Id : 22742721060 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A & FYA U 2 U HfdH (Assertion A) @ G 1 i & G139 SRV (Reason R) & €U H

ST A TR e ot 76 G S o Hieent U8 M) e iR o 3G &% G oI 8, & ot 7+ 64 9
e T &

B R - Al ARE 40 GHg ¥ 9= ¥ Teu! FIerd Afgeiaft o Yas @l M S|
SRIT DY & i H, Fd [GU T faedl & § G SUY I @1 9 o

1 AR RGH el g AR R A ol el &

2 AIRREHI TR R Ald R A gl TGN Tel ¢

JATTIHRTE RIZ

L AR FRAHIRTI

Options:

22742782057. 1

22742782058. 2



22742782059. 3
22742782060. 4

Sub-Section Number : 2
Sub-Section Id : 227427824
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 22742721061 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (141 to 145)

Question Label : Comprehension

Read the following Passage and answer the questions

Building Pedagogical Curb Cuts challenges us to alter the fixed concrete sidewalks of our live and practices, arguing that there
are imaginative ways fo include disability in our classrooms and in our lives, to the bengfit of all. Linda Brinskin mentions four
major influences on pedagogical exclusion: 1) non-flexible requirements set up by programs 2) the restrictive traditional methods
of teaching 3) exclusionary thearetical perspectives and 4) exclusionary instructional materials. Women studies scholarship
informs us that the traditional style of teaching did not include, and often excluded. women’s leaming patterns. By leaving out the
dally experiences of women as housewives, mothers, etc., pedagogy often excluded women as leamers and teachers. For
example, women's studies and political science courses often make mention of women’s suffrage in America, yet rarely include
the fact that Helen Keller marched next to non-disabled women in many iberation marches. These factors can emerge only if
gendsr analysis and teaching methods are implemented from alternative viewpoints. Also, restrictiva academic environments
require Intensive study for specific examinations given on set dates with no regard for the circumstances in the lives of leamers,
women who were unable to study, because they were caring for sick children at home. This is equally true of students with
disabilities who come into school systems that have no adaptation

Sub questions

Question Number : 141 Question Id : 22742721062 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What is the learning point from the Helen Keller Story as mentioned in the passage?

1. Failure of women's studies and women’s movement to include issues and challenges faced by women with disability
2. Liberation movements very openly acknowledges contribution of women with disability

3. Alternative viewpoints are welcomed in academic environment

4 Society Is very considerate on special need of the learners.

Options :

22742782061. 1
22742782062. 2
22742782063. 3
22742782064. 4

Question Number : 142 Question Id : 22742721063 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Imagine a picture of an inclusive and just society. What does an education system look like in this picture?

1. Non-flexible requirements set up by programs

2. Exclusionary theoretical perspectives

3. Teaching methods are implemented from alternative viewpoints.
4. Exclusionary Instructional materials.

Options :

22742782065. 1
22742782066. 2
22742782067. 3
22742782068. 4

Question Number : 143 Question Id : 22742721064 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statement is correct?

Statement | : Inclusive education benefits not only students with disabilities but also students without disabilities.
Statement || - Inclusive classrooms teach all students about the importance of diversity and acceptance

Choose the correct option from given below:

1. Both Statement | and Statement Il are frue
2. Both statement | and statement || are false
3. Statement | is true but statement Il are false
4 Statement | is false but statement Il is true

Options :

22742782069. 1
22742782070. 2
22742782071.3
22742782072. 4

Question Number : 144 Question Id : 22742721065 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What are some disabling environments for women with disability
A Inaccessible Transport

B. Building Without Universal Structure

C. Inclusion of Women and Persons with disability

D. Stereotyping

Choose the correct answer from the options given below:

1. A, B and C only
2.B, Cand D only
3. A BandD only
4 A CandD only

Options :

22742782073. 1



22742782074. 2
22742782075. 3

22742782076. 4

Question Number : 145 Question Id : 22742721066 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion (A) and ofher one labelled as Reason (R).

Assertion A Women with disabilities have been described as being doubly marginalized on account of their disability and their
gender

Reason R In an enabling environment women with disability have greater accessibility over their male counterpart
In light of the above statements, choose the correct answer from the options given below.

1. Both Aand R are correct and R is the correct explanation of A

2 Both Aand R are correct but R is NOT the correct explanation of A
3. Ais comect but R is not correct

4 Als not correct but R is correct

Options :

22742782077. 1
22742782078. 2
22742782079. 3

22742782080. 4

Question Id : 22742721061 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 22742721062 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

e ¥ Sicaiad go ook @ Bl 4

1. RTad AT &l & g5 d ol @ AHE 3 8 W1 AT g Wi JfiaieH @ [abad
2. e MfareH i o T H 2addl dia [kadl & IreH @] WIdR &id &

3. APIGHD Uiaul H Jdicdd epdIv &l Whld gidl &

4 Tyl ot fafdy snazgdmarel & day & ga it [daraid s

Options :

22742782061. 1
22742782062. 2
22742782063. 3

22742782064. 4

Question Number : 142 Question Id : 22742721063 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
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Options :

22742782065. 1
22742782066. 2
22742782067.3

22742782068. 4

Question Number : 143 Question Id : 22742721064 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

EUE R e R e R

o |; et et draa el aret faenfifat ot antRad el & i v e foenflal ot of e el &
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Options :
22742782069. 1
22742782070. 2
22742782071. 3

22742782072. 4

Question Number : 144 Question Id : 22742721065 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742782073. 1
22742782074 2
22742782075. 3

22742782076. 4

Question Number : 145 Question Id : 22742721066 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742782077. 1

22742782078. 2
22742782079. 3

22742782080. 4

Sub-Section Number : 3
Sub-Section Id : 227427825
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 22742721067 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension



Read the following Passage and answer the questions

Previous approaches to documenting and understanding intemnational migration have often disregarded the migration of women.
Most migrant women move voluntarily, but women and girls are also forced migrants leaving their countries in order to flee
conflict, persecution, environmental degradation, natural disasters or other situations that affect their security, livelihood or
habitat. In many instances, women left behind in their country of origin undertake income-generating activities to compensate for
the income lost by the departure of their male relatives if the latter do not sent remittances on & reqular basis. Adding financial
responsibilities to the ofner responsibilities that women have, such as child-rearing, can lead to stress but can also provide
women with the opportunity of gaining autonomy and experience in decision making.

Migrant women workers in the receiving countries are often seen as aliens as inferiors culturally and socially as & potential
threat to stabilty. Migrants are perceived as taking away jobs from the native population despite the fact that migrant worker,
especially women, usually perform the jobs that the native population shun. Women migrant workers face major challenges in
benefiting from trade unions and NGO activity as they are often nat allowed to join or form unions in destination countries.

Sub questions

Question Number : 146 Question Id : 22742721068 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

How does migration affect the women who remain in the country of their origin?

A They find themselves co-residing with other male relatives who often restrict their activities outside the home.
B. They often have more independence and autonomy.

C. They do not take any additional responsibilities.

D. They are generally not involved in any income generating activities.

Choose the correct answer from the options given below:

1. A Bonly

2.A Conly

3 A Donly

4. B, Conly
Options :
22742782081. 1

22742782082. 2



22742782083. 3
22742782084. 4

Question Number : 147 Question Id : 22742721069 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(Given below are two statements:

Statement (1)- Gender relations and gender hierarchies in both sending and receiving countries determine the gender specific
impact of migration

Statement (I1): - Women migrant workers benefits from trade unions and NGO, activities as they are often allowed to join or
form unions in destination countries.

In light of the above statements, choose the most appropriate answer from the options given below,

1. Both Statement | and Statement Il are true
2. Both statement | and statement |l are false
3. Statement | is true but statement Il are false
4 Statement | is false but statement I/ is true

Options :

22742782085. 1
22742782086. 2
22742782087. 3
22742782088. 4

Question Number : 148 Question Id : 22742721070 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion (A) and otner one labelled as Reason (R).

Assertion A Women remaining behind when their male relatives migrate may find themselves co-residing with other male
relatives who may restrict their activities outside the home

Reason R : When their male relatives (Husband, Parents) leave them behind, women have the opportunity of gaining autonomy
and experience in decision making

In light of the above statements, choose the most appropriate answer from the options given below,

1. Both Aand R are correct and R is the correct explanation of A.

2. Both Aand R are correct but R is NOT the correct explanation of A.
3. Ais comect but R is not correct

4 Ais not corect but R is correct

Options :

22742782089. 1
22742782090. 2
22742782091. 3
22742782092. 4

Question Number : 149 Question Id : 22742721071 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement | - Historically in documenting and understands international migration women have always been a chief concem
Statement Il - Migration effects only the migrates themselves but not their family members if they remain in the country of origin
In light of the above statements, choose the correct answer from the options given below.

1. Both Statement | and Statement Il are true
2 Both statement | and statement |l are false
3 Statement | is true but statement Il are false
4 Statement | is false but statement Il is true
Options :

22742782093. 1
22742782094, 2



22742782095. 3
22742782096. 4

Question Number : 150 Question Id : 22742721072 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Migrants workers are often perceived as:

1. Taking away jobs form the native population
2. Culturally and Socially superior

3. People with immense resource

4. People coming from high countries
Options :

22742782097. 1

22742782098. 2

22742782099. 3

22742782100. 4

Question Id : 22742721067 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 22742721068 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742782081. 1

22742782082. 2



22742782083. 3
22742782084. 4

Question Number : 147 Question Id : 22742721069 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742782085. 1
22742782086. 2
22742782087. 3

22742782088. 4

Question Number : 148 Question Id : 22742721070 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742782089. 1

22742782090. 2

22742782091. 3

22742782092. 4

Question Number : 149 Question Id : 22742721071 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742782093. 1
22742782094. 2



22742782095. 3

22742782096. 4

Question Number : 150 Question Id : 22742721072 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742782097. 1
22742782098. 2
22742782099. 3

22742782100. 4



